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khjphpj;Njh;T - 2 
nghJ mwpT  

 
Fwpg;G: khzth;fs; jq;fsJ ngah;> ifg;Ngrp vz; kw;Wk; gjpT vz;iz tpilj;jhspy; (OMR) 
Fwpg;gpLkhW mwpTWj;jg;gLfpwhh;fs; 

 

Neuk;: 3 kzp           nkhj;j kjpg;ngz;fs;: 300 

 

tpdhf;fSf;F gjpyspf;Fk; Kd; fPo;f;fz;l mwpTiufis ftdkhfg; gbf;fTk; 

1. ,e;j tpdhj;njhFg;G> Njh;T njhlq;Ftjw;F 15 epkplq;fSf;F Kd;djhf cq;fSf;F toq;fg;gLk; 
 

2. ,e;j tpdhj;njhFg;G 200 tpdhf;fisf; nfhz;Ls;sJ. tpilaspf;fj; njhlq;FKd; ,t;tpdhj;njhFg;gpy; vy;yh 
tpdhf;fSk; thpirahf ,lk; ngw;Ws;sdth vd;gijAk;> ,ilapy; ntw;Wj;jhs;fs; vitAk; ,y;iy 
vd;gijAk; cWjp nra;J nfhs;sTk;. tpdhj;njhFg;gpy; VNjDk; FiwghL ,Ug;gpd;> mjid Kjy; gj;J 
epkplq;fSf;Fs; miwf;fz;fhzpg;ghshplk; njhptpj;J> rhpahf cs;s NtnwhU tpdhj;njhFg;gpid 
ngw;Wf;nfhs;s Ntz;Lk;. Njh;T njhlq;fpa gpd;G ,J Fwpj;J Kiwapl;lhy; tpdhj;njhFg;G khw;wpj; 
jug;glkhl;lhJ. 
 

3. vy;yh tpdhf;fSf;Fk; tpilaspf;fTk;> vy;yh tpdhf;fSk; rkkhd kjpg;ngz;fs; nfhz;lit. 
 

4. cq;fSila gjpT vz;iz ,e;jg;gf;fj;jpd; tyJ Nky; %iyapy; mjw;nfd mike;Js;s ,lj;jpy; ePq;fs; 
vOj Ntz;Lk;. NtW vijAk; tpdhj;njhFg;gpy; vOjf;$lhJ. 
 

5. tpilj;jhs; xd;W tpilfis Fwpg;gjw;F miwf;fz;fhzpg;ghsuhy; cq;fSf;F toq;fg;gLk;. tpilfisf; 
Fwpg;gJ cs;spl;l mtrpak; gpd;gw;wg;gl Ntz;ba mwpTiufs; tpilj;jhspYk; Njh;Tf;$l mDkjpr;rPl;bYk; 
toq;fg;gl;Ls;sd. 
 

6. cq;fSila tpdhj;njhFg;G vz;iz (Question Booklet Number) tpilj;jhspd; Kjy; gf;fj;jpy; mjw;nfd 
mike;Js;s ,lj;jpy; fUik epw ikAila ge;JKiwg; Ngdhtpdhy; Fwpj;Jf;fhl;lNtz;Lk;. tpdhj;njhFg;G 
vz;iz tpilj;jhspy; rhpahff; Fwpj;Jf;fhl;lj; jtwpdhNyh my;yJ Fwpf;fj; jtwpdhNyh cq;fSila 
tpilj;jhs; nry;yhjjhf;fg;gLk;. 

 
7. xt;nthU tpdhTk; (A) (B) (C) (D) (E) vd Ie;J gjpy;fisf; nfhz;Ls;sJ. ePq;fs; (A) my;yJ (B) my;yJ 

(C) my;yJ (D) ,itfspy; xNu xU rhpahd tpiliaj; njhpT nra;J tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. 
xU Nfs;tpf;F xd;Wf;F Nkw;gl;l rhpahd tpil ,Ug;gjhf ePq;fs; fUjpdhy;> kpfr;rhpahdJ vd ePq;fs; 
vijf;fUJfpwPh;fNsh me;j tpilia tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. cq;fSf;F tpil njhpatpy;iy 
vdpy;> ePq;fs; (E) vd;gij mtrpak; epug;gNtz;Lk;. vg;gbahapDk;> xU Nfs;tpf;F xNu xU tpiliaj;jhs; 
Njh;e;njLf;f Ntz;Lk;. ePq;fs; xU Nfs;tpf;F xd;Wf;F Nkw;gl;l tpilaspj;jhy;> mtw;Ws; xU tpil 
rhpahdjhf ,Ue;jhYk; me;j tpil jtwhdjhfNt fUjg;gLk;. 
 

8. ePq;fs; tpdhj;njhFg;gpd; ve;jg; gf;fj;ijAk; ePf;fNth my;yJ fpopf;fNth $lhJ. Njh;T Neuj;jpy; ,e;j 
tpdhj;njhFg;gpidNah my;yJ tpilj;jhisNah Njh;Tf; $lj;ij tpl;L ntspapy; vLj;Jr; nry;yf;$lhJ. 
Njh;T Kbe;jgpd; ePq;fs; cq;fSila tpilj;jhisf; fz;fhzpg;ghshplk; nfhLj;J tpl Ntz;Lk;. 
,t;tpdhj;njhFg;gpidj; Njh;T Kbe;jTld; ePq;fs; cq;fSld; vLj;Jr; nry;yyhk;. 
 

9. Fwpg;Gfs; vOjpg;ghh;g;gjw;F tpdhj;njhFg;gpd; filrp gf;fj;jpw;F Kd;gf;fj;ij cgNahfpj;Jf; nfhs;syhk;. 
,ijj;jtpu tpdhj;njhFg;gpd; ve;j ,lj;jpYk; ve;jtpj Fwpg;GfisAk; vOjf;$lhJ. ,e;j mwpTiu fz;bg;ghf 
gpd;gw;wg;glNtz;Lk;. 
 

10. Mq;fpy tbtpy; nfhLf;fg;gl;Ls;s Fwpg;Gfs;jhd; KbthdjhFk;. 
 

11. ePq;fs; Nkw;fz;l mwpTiufspy; vtw;iwahtJ gpd;gw;wj; jtwpdhy; Njh;thizak; vLf;Fk; eltbf;iffSf;F 
cs;shf NehpLk; vd mwpTWj;jg;gLfpwJ. 
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1. The pressure of an ideal gas in a box of fixed volume varies: 
a. Directly with its temperature 
b. Directly as square root of its temperature 
c. Directly as the square of its temperature 
d. Inversely as its temperature 
e. Answer not known 
xU epiyahd thA ngl;bapy; thAtpd; mOj;jk; vt;tifapy; khWfpwJ?  
a. mjd; ntg;gepiyf;F Neh;j;jftpy; 
b. mjd; ntg;gepiyapd; th;f;f%yj;jpw;F Neh;j;jftpy; 
c. mjd; ntg;gepiy th;f;fj;jpw;F Neh;j;jftpy; 
d. mjd; ntg;gepiyapd; vjph;j;jftpy; 
e. tpil njhpatpy;;iy 

 
2. Scientific knowledge is imbibed through 

a. Reasoning    b. Experimentation 
c. Problem solving ability  d. Reasoning and experimentation 
e. Answer not known 
mwptpay; mwpT cs;nsLf;fg;gl gad;gLtJ 
a. jhf;f jpwd;   b. ghpNrhjid jpwd; 
c. rpf;fy; jPh;f;Fk; jpwd;  d. jh;f;f kw;Wk; ghpNrhjid jpwd; 
e. tpil njhpatpy;iy 
 

3. Which one of the following Act separated executive and legislative functions of the 
Governor – General’s Council? 
a. The Regulating Act – 1773  b. The Indian Councils Act – 1813 
c. The Indian Councils Act – 1833 d. The Act of 1784 
e. Answer not known 
fPo;;f;fhZk; ve;jnthU rl;lk; fth;dh; n[duy;FOtpd; rl;lkpaw;Wk; kw;Wk; eph;thfg; 
gzpfisg; gphpj;jJ? 
a. xOq;FKiw rl;lk; 1773   b. ,e;jpa fTd;rpy;rl;lk; 1813 
c. ,e;jpa fTd;rpy; rl;lk; 1833  d. 1784k; Mz;L rl;lk;  
e. tpil njhpatpy;iy 

 
4. Who was the founder of the secret society, Abhinava Bharat? 

a. Naren Battacharji   b. Jatin Mukherji   c. Ganesh Savarkar         
d. Damodar Chapekar e. Answer not known 
mgpetghujk; vd;w ,ufrpa ,af;fj;ij epWtpath; ahh;? 
a. eNud; gl;lhrhh;[p  b. Ibd; Kfh;[p   c. fNd~; rthh;fh;   
d. jhNkhjh; rhNgfh;  e. tpil njhpatpy;iy 
 

5. Transfer of learning refers to  
a. Forget after learning   
b. Remember after learning  
c. Use of learnt knowledge in the learning of new things  
d. It’s not possible  
e. Answer not known 
fw;wy; ghpkhw;wk; vd;gJ 
a. fw;w gpwF kwe;J tpLtJ 
b. fw;wgpd; epidtpy; nfhs;tJ  
c. Gjpa tp~aj;ij fw;w mwptpy; gad;gLj;JtJ  
d. rhj;jpakpy;iy  
e. tpil njhpatpy;iy 
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6. Which of the following is incorrectly paired? 
a. 1 astronomical unit – 1.49 х 1011 m  b. 1 light year – 9.46 х 1015 m 
c. 1 fermi – 10-15 m     d. 1 Atomic mass unit – 6.17 х 10-27 kg 
e. Answer not known 
fPo;f;fz;ltw;Ws; vJ jtwhf nghUj;jg;gl;Ls;sJ?  
a. 1 thdpay; myF 1.49 × 1011 kP    b. 1 xspahz;L 1.49 × 1011  kP 
c. 1 ngh;kp – 10-15 kP     d. 1 mZepiw myF – 6.17 10-27 fpfp  

 e. tpil njhpatpy;iy 
 

7. Which of the following are correctly matched? 
1. Foundation of French East India company  - 1664 
2. Establishment of English falling at Masulipatnam – 1611 
3. Foundation of city of Calcutta – 1690 
4. The first Carnatic war end in – 1748 
a. 1, 2, 3, 4 are correct b. 1, 3, 4 are correct   c. 1, 2, 4 are correct   
d. 1 only correct  e. Answer not known 
fPo;f;fz;litfspy; vit rhpahf nghUe;jp cs;sJ? 
1. gpnuQ;R fpof;fpe;jpa fk;ngdp cUthf;fk;  - 1664 
2. k#ypg;gl;bdj;jpy; Mq;fpNya gz;lfrhiy - 1611 
3. fy;fj;jh efuk; cUthf;fg;gLjy;  - 1690 
4. Kjy; fh;ehlfg;Nghh; KbT   - 1748 
a. 1> 2> 3> 4 rhp  b. 1> 3> 4 rhp    c. 1> 2> 4 rhp    
d. 1 kl;Lk; rhp  e. tpil njhpatpy;iy 

 
8. Choose the correct statements about Dr. Muthulakshmi 

I. First Chairman of the State Social Welfare Advisory Board in 1954 
II. First Female Student to be admitted into men’s college 
III. She established Avvai Illam at Chennai 
a. I, II     b. I, III     c. II, III 
d. All the above   e. Answer not known 
Dr. Kj;Jnyl;Rkp gw;wpa rhpahd $w;Wfisj; Njh;f 
I. 1954Mk; Mz;by; khepy r%f ey MNyhridf; FOtpd; Kjy; jiyth; Mdhh; 
II. Mz;fs; fy;Y}hpapy; mDkjpf;fg;gl;l Kjy; ngz; khztp 
III. mt;it ,y;yj;ij nrd;idapy; Jtq;fpdhh;. 
a. I, II     b. I, III     c. II, III 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
9. The wettability of a surface by a liquid depends primarily on  

a. viscosity     
b. surface tension    
c. density  
d. angle of contact between the surface and the liquid 
e. Answer not known 

 XU gug;ig xU jputj;jhy; <ukhf;Fk; msT Kjd;ikahf rhh;e;Js;sJ 
 a. ghFepiy   

b. gug;gpOtpir   
c. mlh;j;jp   
d. gug;Gf;Fk; jputj;jpw;Fk; ,ilNa cs;s Nrh;Nfhzk;  

 e. tpil njhpatpy;iy 
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10. If the Distance between earth and the sun were to be doubled, the number of days in a year 
would be 
a. 64.5  b. 1032  c. 182.5  d. 730  e. Answer not known 
Gtpf;Fk; #hpaDf;Fk; ,ilNa cs;s njhiyT ,Uklq;fhdhy;> Xuhz;L vd;gJ vj;jid 
ehl;fs;? 
a. 64.5  b. 1032  c. 182.5  d. 730  e.  tpil njhpatpy;iy 

 
11. Choose the correct statements about Moovalur Ramamirtham Ammaiyar 

I. She wrote a novel Dasigalin Mosavalai in 1936 
II. She became a member of Self Respect Movement of Periyar 
III. She was an instrumental in the passage of the Madras Devadasi Act 
a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
%tY}h; ,uhkhkph;jk; mk;ikahh; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. 1936Mk; Mz;by; jhrpfspd; Nkhrtiy vd;w Gjpdj;ij vOjpdhh; 
II. ,th; nghpahhpd; Rakhpahij ,af;fj;jpy; cWg;gpduhdhh; 
III. ,th; kjuh]; Njtjhrp jLg;Gr;rl;lk; epiwNtw;wg;gl;ljpy; Kf;fpa Cd;WNfhyhf 

,Ue;jhh; 
a. I, II    b. I, III    c. II, III 
d. ,it ,idj;Jk;  e. tpil njhpatpy;iy 
 

12. How many pairs are correctly matched about Ambedkar? 
I. Bahishkrit Hitkarini Sabha – 1924 
II. Mahad March – 1927 
III. Independent Labour Party – 1934 
IV. Scheduled Castes Federation – 1942 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; mk;Ngj;fh; gw;wpa ,izfspy; rhpahfg; nghUe;jpait vj;jid? 
I. gfp~;fpUj `pl;fhhpzp rgh – 1924 
II. kfj; Nghuhl;lk; - 1927 
III. Rje;jpu njhopyhsh; fl;rp – 1934 
IV. gl;bay; rhjpfs; $l;likg;G – 1942 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
13. The salt formed by the combination of the mixture of solutions of two simple salts and 

which lose identity of the salts from which it is formed. 
a. Complex salt   b. Double salt  c. Mohr’s salt    
d. Alkali salt   e. Answer not known 
,U vspa cg;Gf;fiury;fis fye;J fpilf;Fk; cg;ghdJ> vjpypUe;J cUthf;fg;gl;lNjh> 
mt;Tg;Gf;fspd; jdpj;jd;ikia ,of;fpwJ. ,JNt  
a. mizT cg;G   b. ,ul;il cg;G   c. Nkhh; cg;G  
d. fhu cg;G   e. tpil njhpatpy;iy 

 
14. Which is NOT correct for detergents? 

a. Have all properties of soaps  
b. Can be used in soft and hard water 
c. Cannot be used in acidic medium 
d. Generally obtained from vegetable oil 
e. Answer not known 
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rth;f;fhuq;fSf;F nghUe;jhjJ vJ.  
a. Nrhg;Gfspd; midj;J gz;GfSk; cs;sd.  

b. nkd; kw;Wk; fbd ePhpy; gad;gLj;jyhk; 
c. mkpy Clfj;jpy; gad;gLj;j KbahJ  
d. nghJthf jhtu vz;nzapypUe;J ngwg;gLfpwJ.  
e. tpil njhpatpy;;iy 

 
15. Which law is used to understand the structure and functions of heart and blood vessels? 

a. Chargaffs law   b. Dopler’s law  c. Hardy Weinberg law   
d. Laplace law  e. Answer not known 
,jak; kw;Wk; ,uj;j ehsq;fs; Mfpatw;wpd; mikg;G kw;Wk; gzpfisg; Ghpe;J nfhs;s 
cjTk; tpjp 
a. rhh;f;fhg; tpjp  b. lhg;sh; tpjp  c. `hh;b tPd; ngh;f; tpjp   
d. yhg;Ns]; tpjp  e.  tpil njhpatpy;iy 
 

16. Consider the following 
Assertion (A): Baghat Singh turned to revolutionary nationalism 
Reason (R): Gandhi’s withdrawal of Non-cooperation Movement in the wake of the Chauri 
Chaura incident 
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true and R false 
d. A false and R true 
e. Answer not known 
gpd;tUtdtw;iw Muha;f 
$w;W (A): gfj;rpq; Gul;rpfu gaq;futhjj;jpw;F jpUk;gpdhh;. 
fhuzk; (R): nrshpnrsuh rk;gtj;ij mLj;J fhe;jp xj;Jioahik ,af;fj;ijj; jpUk;gg; 
ngw;whh; 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
17. Choose the correct statements about Subash Chandra Bose 

I. The government decalred 23rd January as Parakram Diwas to commemorate the 
125th birth anniversary of Netaji Subhash Chandra Bose  

II. The Havelock Island was renamed as Netaji Subhash Chandra Boase island 
III. He became a secretary of Bengal state Congress in 1923 
a. I, II    b. I, III    c. II, III 
d. All the above  e. Answer not known 
Rgh~; re;jpuNgh]; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. Rgh~; re;jpuNghrpd; 125tJ gpwe;j ehis epidT $Wk; tifapy; murhq;fk; [dthp 

23Mk; Njjpia guhf;uk; jpth]; Mf mwptpj;Js;sJ 
II. N`t;yhf; jPT> Rgh~; re;jpuNgh]; jPT vd;W ngah; khw;wg;gl;lJ 
III. 1923Mk; Mz;L tq;fhs khepy fhq;fpu]; nrayhsuhf Mdhh; 
a. I, II    b. I, III     c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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18. Consider the following 
Statement : There is passive movement of nearly 70% blood from auricle into ventricle.  
Remaining 30% is pumped into ventricles by artirial contraction, 
Reason  : Opening of the atrio-ventricular valves  
a. Statement is correct. Reason is wrong  
b. Statement and reason are correct 
c. Statement and reason are wrong 
d. Statement is correct but the reason is not explaining the statement 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W : Vl;upaq;fspypUe;J ntd;l;hpf;fps;fSf;Fs; 70% ,uj;jk; jhdfNt ke;j epiyapy;  
fPopwq;FfpwJ. vQ;rpa 30% ntd;l;hpf;fps;fSf;Fs; Vl;hpa RUf;fj;jhy; jpzpf;fg;gLfpwJ. 
fhuzk; : Vl;hpNah ntd;l;hpf;Fyhh; thy;Tfs; jpwg;gjhy; 
a. $w;W rhp> fhuzk; jtW    
b. $w;W rhp> fhuzk; rhp  

c. $w;W jtW> fhuzk; jtW   
d. $w;W rhp fhuzk; $w;iw tpsf;f tpy;iy 
e. tpil njhpatpy;iy 

 
19. Which of the following is male accessory reproductive glands in mammals?  

a. Gastric gland   b. Mushroom shaped gland   c. Prostate gland   
d. Inguinal gland   e. Answer not known 
fPo;fz;ltw;wpy; ghY}l;bapd; Mz; ,dg;ngUf;f Jiz Rug;gpahf ,Ug;gJ vJ?  
a. fh];l;hpf; Rug;gp   b. k];&k; tbt Rug;gp   c. g;Nuh];Nll; Rug;gp   
d. ,d;Fdy; Rug;gp  e. tpil njhpatpy;iy 

 
20. Gene therapy was first used in the treatment of  

a. Haemophilia   b. SCID   c. Albinism   
d. Sickle-cell anemia  e. Answer not known 
[Pd; rpfpr;ir Kjd;Kjypy; ____ rpfpr;irf;fhf gad;gLj;jg;gl;lJ.  
a. `pNkhgpspah    b. SCID    c. my;gpdprk;   
d. fjph; mhpths; Nrhif   e. tpil njhpatpy;;iy 

 

21. Arrange the following commissions on Subash Chandra Bose’s death in chronological 
order 
I. Figgess Report   II. Shah Nawaz Committee 
III. Khosla Commission  IV. Mukherjee Commission 
a. I, II, III, IV  b. II, I, III, IV    c. IV, II, I, III 
d. III, II, I, IV   e. Answer not known 
Rgh~; re;jpuNgh]; ,wg;G Fwpj;J mikf;fg;gl;l fkp~d;fis fhythpirg;gLj;jp vOJf 
I. /gpf;n[]; mwpf;if  II. ~h eth]; Mizak; 
III. Nfh];yh Mizak;  IV. Kf;fh;[p Mizak; 
a. I, II, III, IV   b. II, I, III, IV    c. IV, II, I, III 
d. III, II, I, IV   e. tpil njhpatpy;iy 
 

22. Choose the incorrect statements about Subash Chandra Bose 
I. He reached Japanese controlled Singapore from Germany in July 1943, issued from 

there his famous slogan ‘Delhi Chalo’ 
II. He announced the formation of the Azad Hind Government on 15 August 1943 
III. He opposed the Motilal Nehru Report 
a. I only   b. II only    c. III only  
d. None of these  e. Answer not known 
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Rgh~; re;jpuNgh]; gw;wpa jtwhd $w;wpidj; Njh;T nra;f 
I. ,th; [{iy 1943,y; n[h;kdpapypUe;J [g;ghdpa fl;Lg;ghl;bypUe;j rpq;fg;g+iu 

mile;J mq;fpUe;J jdJ ‘nly;yp rNyh’ Kof;fj;jpid vOg;gpdhh;. 
II. 15 Mf];l; 1943 md;W Mrhj; `pe;j; murhq;fj;ij cUthf;Ftjhf mwptpj;jhh; 
III. Nkhjpyhy; NeUtpd; mwpf;ifapid vjph;j;jhh; 
a. I kl;Lk;   b. II kl;Lk;    c. III kl;Lk; 
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
23. The database generated by ENVIS is used for the management of: 

a. Bio diversity    b. Fresh water recharge  c. Ocean temperature 
d. Weather forecast   e. Answer not known 
ENVIS–My; cUthf;fg;gl;l juTj;jsk; fPo;tUtdtw;Ws; ve;j Nkyhz;ikf;F 
gad;gLj;jg;gLfpwJ.  
a. gy;Yaph; ngUf;fk;   b. ed;dPh; GJg;gpj;jy;  c. flypd; ntg;gepiy  
d. fhyepiy Kd;dwptpg;G  e. tpil njhpatpy;;iy 

 
24. Learning of science mainly helps a learner to develop 

a. Scientific attitude of mind  b. New ideas 
c. Experimentation skills   d. Positive attitude towards life 
e. Answer not known 
mwptpaiy fw;gjhy; fw;gth; tsh;j;Jf; nfhs;StJ  
a. kdjpd; mwptpay; mZFKiw  b. Gjpa fUj;Jf;fs;  
c. ghpNrhjid jpwd;    d. tho;f;ifia Fwpj;j Neh;kiwahd mZFKiw  
e. tpilnjhpatpy;iy 

 
25. Choose the correct statements about Jawaharlal Nehru 

I. He became the General Secretary of the All India Congress Committee in September 
1923 

II. He became the president of the All India States Peoples Conference in 1935 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
[t`h;yhy; NeU gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,th; nrg;lk;gh; 1923,y; mfpy ,e;jpa fhq;fpu]; fkpl;bapd; nghJr; nrayhsuhf 

Mdhh; 
II. ,th; 1935Mk; Mz;by; mfpy ,e;jpa kf;fs; khehl;bd; jiytuhdhh;. 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
26. How many pairs are correctly matched? 

Journal    Founder 
I. Forward   - Subhash Chandra Bose 
II. Al-Hilal    - Maulana Abul Kalam Azad 
III. Mook Nayak   - B.R. Ambedkar 
IV. Comrade   - Mohammed Ali 
a. One pair    b. Two pairs   c. Three pairs 
d. Four pairs    e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
,jo;     epWtpath; 
I. /ghh;thh;l;   - Rgh~; re;jpu Ngh]; 
II. my;-`pyhy;   - nksyhdh mGy;fyhk; Mrhj; 
III. %f; ehaf;   - B.R. mk;Ngj;fh; 
IV. fhk;ul;    - KfkJmyp 
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a. Xh; ,iz    b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;   e. tpil njhpatpy;iy 

 
27. Deductive reasoning enhances the speed and efficiency ________ problems. 

a. in solving   b. in creating   c. in initiating   
d. in imitating  e. Answer not known 
gpur;rpidfis ____________ Ntfj;ijAk; jpwidAk; gFj;jwpjy; Ma;T jpwd; 
Nkk;gLj;JfpwJ. 
a. jPh;g;gjpy;   b. cUthf;Ftjpy;  c. Jtf;f Kaw;rpapy;  
d. Nghyr; nra;tjpy;  e. tpil njhpatpy;;iy 
 

28. How many pairs are correctly matched? 
I. Vinesh Phogat – First Indian woman swimmer to with gold medal at Olympics 
II. Nallathambi Kalaiselvi – First woman director general of CSIR 
III. Ketanji Brown Jackson – First Black woman to serve the Supreme Court of USA 
IV. Ayesha Malik – Pakistan’s first woman Supreme Court Judge 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. tpNd~; Nghfl; - xypk;gpf; ePr;ry; Nghl;bapy; jq;fk; ntd;w Kjy; ,e;jpa ePr;ry; 

tPuhq;fid 
II. ey;yj;jk;gp fiynry;tp – CSIR-,d; Kjy; ngz; nghJ ,af;Feh; 
III. Nfjd;[p gpnusd; [hf;rd; - mnkhpf;f cr;rePjpkd;wj;jpy; gzpGhpAk; Kjy; fUg;gpd 

ngz; ePjpgjp 
IV. maP~h khypf; - ghfp];jhdpd; Kjy; ngz; cr;rePjpkd;w ePjpgjp 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

29. Choose the correct statements about Maulana Abul Kalam Azad 
I. First education Minister of Independent India from 1947 to 1958 
II. He advocated free and compulsory primary education for all children upto the age 

of 14 
III. In 1948, he founded the Indian council of cultural relations 
a. I, II    b. I, III    c. II, III 
d. All the above  e. Answer not known  
nksyhdh mGy;fyhk; Mrhj; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. Rje;jpu ,e;jpahtpd; Kjy; fy;tp mikr;ruhf 1947,y; 1958Mk; Mz;Ltiu 

gzpahw;wpdhh; 
II. 14 taJ tiu cs;s midj;Jf; Foe;ijfSf;Fk; ,ytr kw;Wk; fl;lha njhlf;ff; 

fy;tp Ntz;Lk; vd;W typAWj;jpdhh; 
III. 1948Mk; Mz;L ,e;jpa fyhr;rhu cwTfs; fTd;rpiy epWtpdhh; 
a. I, II    b. I, III    c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

30. Choose the correct statements about Sarojini Naidu 
I. President of Kanpur INC Session in 1925 
II. She was called as Bharat Kokila 
III. She became the governor of United Province in 1948 
a. I, II    b. I, III     c. II, III 
d. All of these  e. Answer not known 
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rNuh[pdp ehAL gw;wpa rhpahdf; $w;Wfisj; Njh;T nra;f 
I. 1925,y; eilngw;w fhd;g+h; INC khehl;bd; jiyth;  
II. ghuj; Nfhfpyh vd;Wk; miof;fg;gl;lhh; 
III. 1948-Mk; Mz;L If;fpa khfhzj;jpd; MSeuhdhh; 
a. I, II    b. I, III     c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

31. Choose the correctly matched pairs? 
I. Kerala High Court – India’s First Paperless Court 
II. Jabalpur – India’s First Geopark 
III. Kasi – Cultural and tourism capital of Shanghai Cooperation Organisation (SCO) 
IV. Hyderabad – Statue of Equality Installed 
a. I, II    b. III, IV    c. I, II, III 
d. All of these  e. Answer not known 
rhpahd ,izfis Njh;f 
I. Nfush cah; ePjpkd;wk; - ,e;jpahtpd; Kjy; fhfpj Gof;fkw;w ePjpkd;wk; 
II. [gy;g+h; - ,e;jpahtpd; Kjy; Gtpapay; g+q;fh 
III. fhrp - ~hq;fha; xj;Jiog;G mikg;gpd; fyhr;rhu kw;Wk; Rw;Wyh jiyefuk; 
IV. i`juhghj; - rkj;Jt rpiy epWtg;gl;lJ 
a. I, II    b. III, IV   c. I, II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

32. India’s first 100% women owned industrial park was opened in  
a. Bangalore   b. Chennai   c. Thiruvananthapuram 
d. Hyderabad  e. Answer not known 
,e;jpahtpd; Kjy; 100 rjtPjk; ngz; cwpikahsh;fis nfhz;l njhopw;Jiw g+q;fh 
jpwf;fg;gl;Ls;s ,lk; _______ 
a. ngq;f@U   b. nrd;id   c. jpUtde;jGuk; 
d. i`juhghj;  e. tpil njhpatpy;iy 
 

33. How many pairs are correctly matched? 
Newspapers    Editors 
I. Vande Mataram  - Aurobindo Ghosh 
II. Young India   - Gandhi 
III. Hindustan   - M.M. Malaviya 
IV. Kesari    - Balgangadhar Tilak 
a. One pair    b. Two pairs   c. Three pairs 
d. Four pairs    e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahf nghUe;jpa ,izfs; vj;jid? 
gj;jphpf;iffs;   gjpg;ghrphpah;fs; 
I. te;Njkhjuk;   - mugpe;Njh Nfh~; 
II. aq; ,e;jpah   - fhe;jp 
III. `pe;J];jhd;   - M.M. khstpah 
IV. Nfrhp    - ghyfq;fhju jpyfh; 
a. Xh; ,iz    b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;   e. tpil njhpatpy;iy 

 

34. Match the following 
Foundor    Organisation  
A. Debndranath Tagore  1. Hindu Dharma  Parvardhini Sabha 
B. M.M. Malaviya   2. Tattuvabhodini Sabha 
C. Vishnu Shashtri Pandit  3. Widow Remarriage Association  
D. Lala Lajpat Roy   4. The Servants of People Society 
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 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 1 4 2 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf 
epWtpath;    mikg;G 
A. NjNte;jpuehj; jh$h;  1. ,e;J jh;k gh;th;jpdp rig 
B. M.M. khstpah   2. jj;JtNghjpdp rig 
C. tp~;Z rh];jphp gz;bl;  3. tpjit kWkz rq;fk; 
D. yhyhy[;gjp uha;   4. jp nrh;td;l;]; Mg; gPGy; nrhirl;b 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 1 4 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

35. Choose the correct statements 
1. G20 Summit 2022 – Bali 
2. BIMSTEC Summit 2022 – Srilanka 
3. COP 28 – UAE 
a. 1, 3   b. 2, 3  c. 1, 2  d. All of these e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. G20 khehL 2022 – ghyp 
2. BIMSTEC khehL 2022 - ,yq;if 
3. COP28 khehL - UAE 
a. 1, 3   b. 2, 3  c. 1, 2  d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

36. If 10% of A is equal to 12% of B, then 15% of A is equal to what percent ofB? 
a. 81%   b. 18%     c. 6%     
d. 3%   e. Answer not known 
A d; 10% vd;gJ B ,d; 12% rkk; vdpy; A ,d; 15%> B ,d; ve;j rjtPjj;jpw;F rkk;?  
a. 81%   b. 18%     c. 6%     
d. 3%   e. tpil njhpatpy;;iy  

 
37. Find the number in the place of question mark 

21, 25, 34, 50, ?, 111, 160 
a. 86  b. 72   c. 75  d. 59  e. Answer not known 
Nfs;tpf;Fwpapl;l ,lj;jpy; tUk; vz;izf; fhz;f 
a. 86  b. 72   c. 75  d. 59  e. tpil njhpatpy;iy 

 
38. The number of bricks each measuring 50 cm × 30 cm × 20 cm that will be required to build a 

wall whose dimensions are 5 m × 3 m × 2 m is  
a. 1000   b. 2000     c. 3000    
d. 5000  e. Answer not known 
5kP   3kP   2kP msTs;s xU Rtu; vOg;g> 50 nrkP   30 nrkP   20 nrkP msT nfhz;l 
nrq;fw;fs; vj;jid Njit? 
a 1000   b 2000     c 3000    
d 5000   e. tpil njhpatpy;;iy  
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39. A sum of Rs. 46,000 was lent out at simple interest and at the end of 1 year and 9 months, 

the total amount was Rs. 52,440. Find the rate of interest per year. 
a. 12 %  b. 10 %    c. 8 %    
d. 5%   e. Answer not known 
&.46>000 jdptl;bapy;> 1 tUlk; 9 khjj;jpw;F fldha; toq;fpajpy; fpilj;j nkhj;j njhif 
&.52>440. Mz;L tl;b tPjj;ijf; fhz;f. 
a. 12 %  b. 10 %    c. 8 %    
d. 5%   e. tpil njhpatpy;;iy  

 
40. Find x so that x+6, x+12 and x+15 are consecutive terms of a Geometic progression. 

a. -78  b. -18   c. -12  d. -6  e. Answer not known 
x+6, x+12 kw;Wk;  x+15 xU ngUf;Fj; njhlh; njhlh;r;rpahd cWg;Gfs;> x-ia fhz;f. 
a. -78  b. -18   c. -12  d. -6  e. tpil njhpatpy;iy 
 

41. How many pairs are correctly matched? 
I. July 1 – Goods and Service Tax Day 
II. July 15 – World Youth Skills Day 
III. July 28 – World Nature Conservation Day 
IV. August 10 – World Elephant Day 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. [{iy 1 – ruf;F kw;Wk; Nrit thp jpdk; 
II. [{iy 15 – cyf ,isQh; jpwd; jpdk; 
III. [{iy 28 – cyf ,aw;if ghJfhg;G jpdk; 
IV. Mf];l; 10 – cyf ahidfs; jpdk; 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

42. Arrange the following in chronological order 
I. C.R. Formula  II. Wavell Plan 
III. Cabinet Mission  IV. Mountbatten Plan 
a. I, II, III, IV   b. II, I, IV, III    c. II, III, IV, I 
d. I, II, IV, III   e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gLj;Jf 
I. C.R. jpl;lk;   II. Ntty; jpl;lk; 
III. Nfgpdl; FO   IV. kTz;l;Ngl;ld; jpl;lk; 
a. I, II, III, IV   b. II, I, IV, III    c. II, III, IV, I 
d. I, II, IV, III   e. tpil njhpatpy;iy 
 

43. Match the following: 
A. Farazi Movement   1. Eastern Bengal 
B. Wahhabi Movement   2. Barasat region  
C. Kol Revolt    3. Chota Nagpur 
D. Santhal Hool    4. Eastern India      
 A B C D 
a. 3 2 1 4 
b. 4 2 1 3 
c. 1 2 3 4 
d. 1 2 4 3 
e. Answer not known 
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nghUj;Jf 
A. /guhrp ,af;fk;    1. fpof;F tq;fhsk;  

B. t`hgp fpsu;r;rp   2. gurj; gFjp 
C. Nfhy; fpsur;rp   3. Nrhl;lh ehf;g+h; 
D. rhe;jyu;fspd; fpsu;r;rp  4. fpof;F ,e;jpa gFjp  
 A B C D 
a. 3 2 1 4 
b. 4 2 1 3 
c. 1 2 3 4 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

44. How many pairs are correctly matched? 
Defence Exercise   Countries Participated 
I. Dharma Guardian 2022 - India and Japan 
II. LAMITIYE 2022  - India and Maldives 
III. Khanjar 2022   - India and Kyrgystan 
IV. SLINEX 2021   - Srilanka and India 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
,uhZt gapw;rp   fye;Jnfhz;l ehLfs; 
I. jh;kh fhh;bad; 2022  - ,e;jpah kw;Wk; [g;ghd; 
II. LAMITIYE 2022  - ,e;jpah kw;Wk; khyj;jPTfs; 
III. fQ;rhh; 2022   - ,e;jpah kw;Wk; fph;fp];jhd; 
IV. SLINEX 2021   - ,yq;if kw;Wk; ,e;jpah 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

45. Who was selected for the Nobel Peace Prize in 2022? 
a. Maria Ressa and Dmitry muratov  b. Ellen Johnson 
c. Syukuro Manabe     d. Ales Byalyatski 
e. Answer not known 
2022Mk; Mz;L mikjpf;fhd Nehgy; ghpRf;F Njh;e;njLf;fg;gl;lth; ahh;? 
a. khpah nu];]h kw;Wk; kpj;hp KuhNjht;  b. vy;yd; [hd;rd; 
c. ];AFNuh kdNg     d. mny]; gpahy;al;];fp 
d. tpil njhpatpy;iy 
 

46. Match the following: 
A. Madras Native Association   1. 1866 
B. East India Association    2. 1885 
C. Madras Mahajana Sabha   3. 1852 
D. Poona Sarvajanik Sabha   4. 1884 
E. Bombay Presidency Association    5. 1870 
 A B C D E 
a. 2 3 1 5 4 
b. 1 5 4 2 3 
c. 4 2 3 1 5 
d. 3 1 4 5 2 
e. Answer not known 
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nghUj;Jf: 
A. nrd;idthrpfs; rq;fk;   1. 1866 
B. fpof;fpe;jpa mikg;G    2. 1885 
C. nrd;id kfh[d rig    3. 1852 
D. G+dh rh;t[dpf; rig    4. 1884 
E. gk;gha; khfhz rq;fk;    5. 1870 
 A B C D E 
a. 2 3 1 5 4 
b. 1 5 4 2 3 
c. 4 2 3 1 5 
d. 3 1 4 5 2 
e. tpil njhpatpy;iy 
 

47. Sahitya Academy’s Best Tamil Translation Prize 2021 under the title ‘Oru Pinathookiyyin 
Varalatru Kuripugal’ was awarded to ________ 
a. Ambai   b. Narayanan   c. Sezhiyan 
d. Imayam   e. Answer not known  
‘xU gpze;J}f;fpapd; tuyhw;W Fwpg;Gfs;’ vd;w E}Yf;F rhfpj;a mfhnjkpapd; rpwe;j 
jkpo;nkhopngah;g;gpw;fhd tpUJ 2021 I ngw;wth; _________ 
a. mk;ig   b. ehuhazd;    c. nropad; 
d. ,kak;   e. tpil njhpatpy;iy 
 

48. How many pairs are correctly matched? 
Award        Recipient 
I. First Lata Deenanath Mangeshkar Award 2022  - Narendra Modi 
II. Netaji Award 2022      - Shinz Abe 
III. Abel Prize 2022      - Dennis Parnell Sullivan 
IV. International Booker Prize 2022    - Geetanjali Shree 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
tpUJfs;       ngw;wth;fs; 
I. Kjy; yjh jPdehj; kq;Nf];fh; tpUJ 2022 - eNue;jpu Nkhb 
II. Nejh[p tpUJ 2022     - ~pd;Nrh mNg 
III. VNgy; ghpR 2022     - nld;dp];gh;ndy; Ry;yptd; 
IV. rh;tNjr Gf;fh; ghpR 2022    - fPjhQ;ryp = 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

49. Which text says “the purpose of wealth is to share”? 
a. Purananooru   b. Thirukural   c. Naladiyar 
d. Pazhamozhi Nanooru  e. Answer nor known 
nry;tj;Jg; gaNd <jy; vdf;$Wk; E}y; vJ? 
a. GwehD}W    b. jpUf;Fws;   c. ehybahh; 
d. gonkhop ehD}W   e. tpil njhpatpy;iy 
 

50. Who translated Thirukural, Thirupugazh, Devaram, Nannool and Aathichoodi into other 
languages? 
a. G.U. Pope   b. Veeramamunivar  c. Caldwell 
d. Maraimalai Adigal e. Answer not known 
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jpUf;Fws;> jpUg;Gfo;> Njthuk;> ed;D}y;> Mj;jpr;#b Nghd;w E}y;fis gpw nkhopfspy; 
nkhop ngah;j;jth; ahh;? 
a. [p.A. Nghg;   b. tPukhKdpth;   c. fhy;Lnty; 
d. kiwkiy mbfs; e. tpil njhpatpy;iy 
 

51. How many pairs are correctly matched? 
Books     Authors 
I. The Blue Book  Amitava Kumar 
II. India, that is Bharat  J Sai Deepak 
III. Fearless Governance Kiran Bedi 
IV. A little Book of India Ruskin Bond 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
Gj;jfq;fs;     Mrphpah;fs; 
I. jp GS Gf;    - mkpj;jth Fkhh; 
II. ,e;jpah> jl; ,]; ghuj;  - J rha; jPgf; 
III. /gpah;y]; fth;dd;];  - fpuz; Ngb 
IV. v ypl;by; Gf; Mg; ,e;jpah  - u];fpd; ghd;l; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

52. Identify the incorrect statement 
a. The alluvial soils occur mainly in the Ganga – Brahmaputra plains of India 
b. The tropical chernozems are otherwise called as Red soil in India 
c. Desert soil is found in northwestern part of India 
d. None of these  
e. Answer not known 
jtwhd thf;fpaj;ij Njh;T nra;f 
a. ,e;jpahtpy; tz;ly;kz;> fq;if-gpuk;kGj;jpuh rkntspapy; mjpfk; fhzg;gLfpwJ. 
b. mad kz;ly nrh;Ndhrk; vd;w kz; tif ,e;jpahtpy; nrk;kd; vd;wiof;fg;gLfpwJ. 
c. ghiy kz; ,e;jpahtpd; tlNkw;F gFjpapy; fhzg;gLfpwJ. 
d. Nkw;$wpa VJkpy;iy 
e. tpil njhpatpy;iy 

 

53. Choose the correctly matched pairs 
Rivers    Flowing region 
I. Cheyyar  - Thiruvannamalai  
II. Chittar  - Tirunelveli 
III. Ponniyar  - Villupuram and Cuddalore 
IV. Gundar  - Tirunelveli and Virudhunagar 
V. Vaipar  - Virudhunagar and Theni 
a. I, II, III   b. II, IV, V    c. I, II, IV, V 
d. All of these  e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;T nra;f 
MWfs;   ghAk; gFjp 
I. nra;ahW  - jpUtz;zhkiy 
II. rpj;jhW  - jpUney;Ntyp 
III. nghd;dpahW  - tpOg;Guk; kw;Wk; flY}h; 
IV. Fz;lhW  - jpUney;Ntyp kw;Wk; tpUJefh; 
V. itg;ghW  - tpUJefh; kw;Wk; Njdp 
a. I, II, III   b. II, IV, V    c. I, II, IV, V 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
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54. Match the following: 
A. Gopala Nayak  1. Aanaimalai 
B. Krishnappa Nayak 2. Malabar 
C. Yadul Nayak  3. Dindigul 
D. Kerala Varma  4. Mysore 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 1 2 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf. 
A. Nfhghy ehaf;fh;  1. Midkiy 
B. fpU~;zg;gh ehaf;fh; 2. kyghh; 
C. aJy; ehaf;fh;  3. jpz;Lf;fy; 
D. Nfush th;kh  4. ik#h;  
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 1 2 
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 
55. Who was the first to coin and to use the word Dravidian? 

a. Kumarilappattaar and Caldwell b. Caldwell and Kumarilappattaar 
c. Kamilsuvalabil and Borough  d. Caldwell and Parithimar Kalaignar 
e. Answer not known 
“jpuhtplk;’ vd;Dk; nrhy;iy Kjd; Kjypy; cUthf;fpath; kw;Wk; mjidg; gad;ghl;bw;F 
nfhz;L te;jth; ahh;?  
a. Fkhpyg;gl;lh; kw;Wk; fhy;Lnty;  b. fhy;Lnty; kw;Wk; Fkhpyg;gl;lh;  
c. fkpy;Rtygpy; kw;Wk; ghNuh  d. fhy;Lnty; kw;Wk; ghpjpkhw;fiyQh; 
e. tpil njhpatpy;iy 

 

56. Match the following 
Ocean currents   Ocean 
A. Labrador Current  1. North Atlantic Ocean 
B. Kuroshio Current   2. Pacific Ocean 
C. Mozambique Current  3. South Atlantic Ocean 
D. Falkland Current   4. Indian Ocean 
 A B C D 
a.  1 2 3 4 
b. 1 2 4 3 
c. 2 1 4 3 
d. 2 1 3 4 
e. Answer not known 
nghUj;Jf 
gpd;tUtdtw;iw nghUj;Jf 
ePNuhl;lq;fs;    Nguhop 
A. yhg;ulhh; ePNuhl;lk;  1. tl ml;yhz;bf; Nguhop 
B. FNuh~pNah ePNuhl;lk;  2. grpgpf; Nguhop 
C. nkhrhk;gpf; ePNuhl;lk;  3. njd; ml;yhz;bf; Nguhop 
D. /ghf;yhe;J ePNuhl;lk;  4. ,e;jpag; Nguhop 
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 A B C D 
a.  1 2 3 4 
b. 1 2 4 3 
c. 2 1 4 3 
d. 2 1 3 4 
e. tpil njhpatpy;iy 
 

57. Arrange the following mountain ranges from north to south 
I. Ladakh range  II. Zaskar range  III. Karakoram range  
IV. Dhauladhar range V. Pirpanjal range 
a. I, III, II, IV, V   b. III, II, I, IV, V  d. III, I, II, V, IV 
d. III, V, IV, II, I   e. Answer not known 
fPo;f;fz;l kiyj;njhlh;fis tlf;F njw;fhf thpirg;gLj;Jf 
I. ylhf; kiyj;njhlh;  II. [h];fh; kiyj;njhlh; 
III. fhuNfhuk; kiyj;njhlh;  IV. njsyjhh; kiyj;njhlh; 
V. gPh;gQ;ry; kiyj;njhlh;   
a. I, III, II, IV, V   b. III, II, I, IV, V  c. III, I, II, V, IV 
d. III, V, IV, II, I   e. tpil njhpatpy;iy 

 

58. From the following statements identify the corresponding book. 
1. Among the Thogai books, this book was compiled first. 
2. There is mention of battlefields Vennipparandalai, Kazhumalam in this book. 
3. It refers to 12 Pandiyaas, 18 Cheraas, 13 Cholas 

 a. Agananooru  b. Purananooru  c. Natrinai 
 d. Kurunthogai  e. Answer not known 

fPo;f;fz;l $w;Wf;fisf; nfhz;L rq;f ,yf;fpa E}iy milahsk; fhz;f.  
1. njhif E}y;fSs; Kjypy; njhFf;fg;gl;lJ 
2. ntz;zpg;gwe;jiy> fOkyk; Kjypa Nghh;f;fsq;fs; ,e;E}ypy; Rl;lg;gl;Ls;sd.  
3. 12 ghz;bah;fisAk;> 18 Nruh;fisAk;> 13 Nrhoh;fisAk; gw;wp $WfpwJ. 
a. mfehD}W   b. GwehD}W   c. ew;wpiz     
d. FWe;njhif   e. tpil njhpatpy;iy 

 

59. With whom did Paththirai, the minister’s daughter argue and as she lost the argument she 
sought refuge in the Buddhist religion? 
a. Saaripuththur  b. Naadhakuththanaar  c. Magaamunivar  
d. Thevar   e. Answer not known 
Fz;lyNfrp fhg;gpaj;jpy; mikr;rhpd; kfshd gj;jpiu ahUld; thjj;jpy; Njhw;wjhy; 
Gj;jrkaj;ij jOTfpwhs;?  
a. rhhpGj;jh;   b. ehjFj;jdhh;   c. kfhKdpth;   
d. Njth;    e. tpil njhpatpy;iy 

 

60. Match the following 
Railway Zone   Headquarters  
A. Northeast Frontier Railway 1. Maligaon 
B. South Coast Railway  2. Vishakapatnam 
C. East Coast Railway  3. Bhubaneshwar 
D. South East Central Railway 4. Bilaspur 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
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nghUj;Jf 
uapy;Nt kz;lyk;   jiyikaplk; 
A. tlfpof;F vy;iy uapy;Nt 1. khypfhd; 

B. njd;flw;fiu uapy;Nt  2. tprhfgl;bdk; 
C. fpof;F flw;fiu uapy;Nt 3. GtNd~;th; 
D. njd;fpof;F kj;jpa uapy;Nt 4. gpyh];g+h; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
61. How many pairs are correctly matched? 

I. Kolleru Lake - Andhra Pradesh 
II. Pulicat Lake - Tamilnadu and Andhra Pradesh border 
III. Wular Lake - Jammu and Kashmir 
IV. Dal Lake - Odisha 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. nfhy;NyU Vhp - Me;jpug;gpuNjrk; 
II. Gypfhl; Vhp  - jkpo;ehL kw;Wk; Me;jpugpuNjrj;jpd; vy;iy 
III. cyhh; Vhp  - [k;K kw;Wk; fh~;kPh; 
IV. lhy; Vhp  - xb~h 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
62. Where was the mint preparing Roman coins located? 

a. Kancheepuram  b. Madurai   c. Raamanaadhapuram  
d. Vizhuppuram  e. Answer not known 
Nuhkhdpa ehzaq;fs; jahupf;Fk; njhopw;rhiy mike;Js;s ,lk; vJ? 
a. fhQ;rpGuk;   b. kJiu   c. ,uhkehjGuk;   
d. tpOg;Guk;   e. tpil njhpatpy;iy 

  
63. To Which ruler does the Hathigumpha stone inscriptions belong to? 

a. Ajatasatru   b. Cheran Senguttuvan  c. Kharavela   
d. Ashoka   e. Answer not known 
`jpFk;gh fy;ntl;L ve;j murDf;F cupajhFk; 
a. m[hjrj;U   b. Nrud; nrq;Fl;Ltd;  c. fhuNtyd;  
d. mNrhfh;   e. tpil njhpatpy;iy 

 
64. The temple that is referred to as Rajasimmeswara 

a. Kailasanaathar temple   b. Vishnu temple 
c. Vaikunda Perumaal temple  d. Kasi Vishwanaathar temple 
e. Answer not known 
uh[rpk;Nk];tuk; vd;W miof;fg;gLk; Nfhtpy; 
a. ifyhrehju; Nfhtpy;   b. tp~;Z Nfhtpy; 
c. itFz;l ngUkhs;Nfhtpy;  d. fhrp tp];tehjh; Nfhtpy; 
e. tpil njhpatpy;iy 
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65. How many pairs are correctly matched? 
Towns   Industries 
I. Khetri   - Copper industries 
II. Korba   - Aluminium factory 
III. Jharia   - Coal Mines 
IV. Nepanagar  - Oil Mines 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
efuq;fs;   njhopw;rhiyfs; 
I. Nfj;hp   - jhkpu njhopw;rhiyfs; 
II. Nfhh;gh   - mYkpdpaj; njhopw;rhiy 
III. [hhpah   - epyf;fhp Ruq;fq;fs; 
IV. Neghefh;  - vz;nza; Ruq;fq;fs; 
a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
66. How many pairs are correctly matched? 

I. Bandhavgarh National Park - Madhyapradesh 
II. Bandipur Sanctuary   - Karnataka 
III. Banerghatta National Park  - Rajasthan 
IV. Chandraprabha Sanctuary  - Uttarakhand 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. ge;jht;fhh; Njrpa g+q;fh  - kj;jpag;gpuNjrk; 
II. ge;jpg;g+h; ruzhyak;   - fh;ehlfk; 
III. gNdh;fhl;lh Njrpa g+q;fh  - uh[];jhd; 
IV. re;jpugpugh ruzhyak;  - cj;jufhz;l; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
67. The person who praised the Pandya kingdom as the most prosperous and the world’s most 

wonderful region ____ 
a. Hieun Tsang  b.  Marcopolo   c. Wasaf  
d. George L. Hart  e. Answer not known 
ghz;ba muR nry;tr; nropg;Gkpf;f cyfpNyNa kpf mw;Gjkhd gFjpahFk; vd Gfohuk; 
#l;batu; 
a. Athd;Rthq;  b. khu;NfhNghNyh   c. thrg;   
d. [hu;[; vy; `hu;l;  e. tpil njhpatpy;iy 

 
68. The word used to refer to people who move from place to place for trade _____. 

a. Vaniga  b. Saaththu   c. Satya Vanigam   
d. Nigama  e. Answer not known 
,lk; tpl;L ,lk; nrd;W tzpfk; nra;gtu;fis Fwpf;Fk; nrhy; 
a. tzpfh  b. rhj;J   c. rj;a tzpfk;   
d. epfkh  e. tpil njhpatpy;iy 

 
69. Arrange the following states / UT in descending order regarding their sex ratio as per 2011 

census. 
I. Kerala     II. Puducherry 
III. Andhrapradesh (undivided)  IV. Tamilnadu 
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a. I, II, III, IV  b. I, II, IV, III  c. I, III, IV, II 
d. II, I, III, IV  d. Answer not known 
gpd;tUk; khepyq;fs; / a+dpad; gpuNjrq;fis 2011 kf;fs;njhif fzf;nfLg;gpd;gb 
mtw;wpd; ghypd tpfpj mbg;gilapy; ,wq;Fthpirapy; mikf;f 
I. Nfush     II. GJr;Nrhp 
III. Me;jpugpuNjrk; (gphpf;fg;glhj)  IV. jkpo;ehL 
a. I, II, III, IV  b. I, II, IV, III  c. I, III, IV, II 
d. II, I, III, IV  d. tpil njhpatpy;iy 
 

70. Which of the following are the tributaries of Yamuna River? 
I. Chambal  II. Sharda   III. Betwa  IV. Ken  
a. I, II    b. III, IV   c. I, III, IV 
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; aKid ejpapd; JizahWfs; vit? 
I. rk;gy;   II. rhujh  III. ngl;th   IV. nfd; 
a. I, II    b. III, IV   c. I, III, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
71. C. N. Annadurai started ____ in 1957. 

a. Homeland   b. Home rule   c. Dravida Nadu   
d. Kanchi   e. Answer not known 
1957y; C.N. mz;zhJiu Jtf;fpaJ. 
a. N`hk;Nyd;l;   b. N`hk; &y;   c. jpuhtpl ehL  
d. fhQ;rp   e. tpil njhpatpy;iy 

 
72. Consider the following  

Assertion (A): Self-respect marriages were legalised in 1967. 
Reason (R): Third self-respect conference advocated for self-respect marriages. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false 
d. (A) is false, (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): Rakhpahijj; jpUkzq;fs; 1967y; rl;lg;G+h;tkhf;fg;gl;lJ. 
fhuzk; (R): %d;whk; Rakhpahij ,af;f khehL Rakhpahij jpUkzq;fSf;F thjpl;lJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
73. How many pairs are correctly matched? 

I. Hathnur dam  - Maharashtra 
II. Kakrapara dam  - Gujarat 
III. Girna Dam   - Madhyapradesh 
IV. Gandhi Sagar dam  - Gujarat 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
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I. `j;D}h; miz - kfhuh ;̀buh 
II. fhf;uhghh; miz - F[uhj; 
III. fph;dh miz  - kj;jpag;gpuNjrk; 
IV. fhe;jprhfh; miz - F[uhj; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

74. Choose the correct statements about the Tropical wet evergreen forest. 
I. Annual rainfall exceeds 250 cm 
II. Annual temperature is about 25° – 27° C 
III. The average annual humidity exceeds 77% 
IV. The dry season is distinctly short 
a. I, II    b. III, IV    c. I, II, III 
d. All the above  e. Answer not known 
madkz;ly <ug;gjkpf;f gRik khwhf; fhLfs; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. 250 nr.kPf;Fk; mjpfkhd Mz;L kiog;nghopT 
II. Mz;L ntg;gepiy Rkhh; 25° – 27°C 
III. Mz;bd; ruhrhp <ug;gjk; 77% f;Fk; mjpfkhf ,Uf;Fk; 
IV. FWfpa twz;l fhyj;ijf; nfhz;lJ 
a. I, II    b. III, IV    c. I, II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

75. Choose incorrect pair 
a. Advaidananda Sabha  - 1876 
b. Dravida Pandian   - 1885 
c. Oru Paisa Tamilan  - 1907 
d. Dravida Mahajana Sabha - 1893 
e. Answer not known 
jtwhd ,iziaj; Njh;e;njL:- 
a. mj;itjhde;j rgh  - 1876 
b. jpuhtpl ghz;bad;   -  1885 
c. xU igrhj; jkpod;   - 1907 
d. jpuhtpl kfh[d rig  - 1893 
e. tpil njhpatpy;iy 

 
76. The area of a trapezium is 1080 sq. cm. If the lengths of its parallel sides are 55.6 cm and 34.4 

cm, find the distance between them. 
a. 12 cm  b. 24 cm    c. 32 cm   
d. 38 cm  e. Answer not known 
gug;gsT 1080 r.nr.kP ck;> ,izg;gf;fq;fspd; msTfs; KiwNa> 55.6 nr.kP kw;Wk; 34.4 
nrkP nfhz;l ruptfj;jpd; ,izg;gf;fq;fs; ,lntsp fhz;f. 
a. 12 nrkP  b. 24 nrkP   c. 32 nrkP   
d. 38 nrkP  e. tpil njhpatpy;;iy  

 

77. First pipe can fill a tank in 12 hours. Second pipe can fill the same tank in 6 hours. Third 
pipe in 4 hours. How long will it take to fill the tank if all the 3 pipes are opened 
simultaneously? 
a. 2 hrs  b. 3 hrs    c. 4 hrs    
d. 12 hrs   e. Answer not known   
xU jz;zPu; njhl;bia epug;Gtjw;F Kjw;Foha;f;F 12 kzpNeuk; MfpwJ. mNj. njhl;bia 
epug;Gtjw;F ,uz;lhk; Foha;f;F 6 kzp Neuk; MfpwJ> %d;whk; Foha;f;F 4 kzp Neuk; 
MfpwJ. %d;W Foha;fSk; xNu rkaj;jpy; jpwe;J tplg;gl;lhy; jz;zPu; njhl;b epuk;Gtjw;F 
MFk; Neuk; vt;tsT? 
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a. 2 kzpNeuk; b. 3 kzpNeuk;   c. 4 kzpNeuk;   
d. 12 kzpNeuk; e. tpil njhpatpy;;iy  

 
78. If (x -6) is the HCF of x2 -2x -24 and x2 - kx - 6 then the value of k is 

a. 3   b. 5   c. 6   d. 8   e. Answer not known 
2 2 24x x− − kw;Wk; 2 6x kx− − -apd; kP.ng.t ( 6x− ) vdpy;> k -apd; kjpg;G 

a. 3   b. 5   c. 6   d. 8   e. tpil njhpatpy;;iy  
 

79. Simplify 214 112 74 49+ + +  

a. 15     b. 18     c. 25     
d. 17   e. Answer not known 

214 112 74 49+ + +  RUf;Ff. 

a. 15     b. 18     c. 25     
d. 17   e. tpil njhpatpy;;iy  

 
80. If “ZGP” stands for “WIN” then “VMR” stands for 

a. WLS  b.  SOP    c. UPQ 
d. TAP  e. Answer not known 
“ZGP” vd;gJ “WIN”  vdf;Fwpg;gpl;lhy; “VMR”  vt;thW Fwpg;gplg;gLk;;   
a. WLS  b.  SOP    c. UPQ 
d. TAP  e. tpil njhpatp;y;iy 

 

81. Choose the correct statement. 
I. V.O.C started the Swadeshi Steam Navigation Company on 1905 
II. V.O.C. ship first sailed from Tuticorin to Calcutta 
III. He supported the mill workers in the Coral mill strike 1908 
IV. He celebrated the release of Bipin Chandra pal as Swaraj Day in Tirunelveli. 
a.  I and II   b.  I and III   c.  All of these    
d.  III and IV   e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdijj; Njh;e;njLf;fTk;. 
I. t.c.rp. mth;fs; RNjrp ehtha; rq;fj;ij 1905y; Muk;gpj;jhh;  
II. t.c.rp. apd; fg;gy; J}j;Jf;FbapypUe;J nfhy;fj;jhtpw;F Kjw; gazk; 

Nkw;nfhz;lJ. 
III. 1908 y; Nfhuy;kpy; Ntiy epWj;jj;jpy; njhopyhsh;fSf;F Mjuthf ,Ue;jhh; 
IV. gpgpd; re;jpughypd; tpLjiyia Rauh[;a jpdkhf jpUney;Ntypapy; nfhz;lhbdhh;  
a. I kw;Wk; II   b. I kw;Wk; III   c. Nkw;$wpa midj;Jk; 
d. III kw;Wk; IV   e. tpil njhpatpy;iy 

 

82. Choose the correct statements 
I. Project tiger was launched on April 1, 1973 with 9 tiger reserves 
II. Currently (October 2022) the project tiger coverage has increased to 54, spread out in 

18 states 
III. National Tiger conservation Authority was launched in 2006 
a. I, II    b. I, III    c. II, III 
d. All the above  e. Answer not known 
rhpahd $w;Wfisj; Njh;f 
I. Gypfs; jpl;lk; Vg;uy; 1> 1973 md;W 9 Gypfs; fhg;gfq;fSld; njhlq;fg;gl;lJ. 
II. jw;NghJ (mf;Nlhgh; 2022) Gypfs; jpl;lk; 54 fhg;gfq;fSld; 18 khepyq;fspy; 

tphpTgLj;jg;gl;Ls;sJ. 
III. Njrpa Gypfs; ghJfhg;G Mizak; 2006y; epWtg;gl;lJ. 
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a. I, II    b. I, III    c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

83. Who had introduced the system of land measurement in India? 
a. Alauddin khilji  b. Sikandar Lodi  c. Sher Shah Suri  
d. Akbar   e. Answer not known 
,e;jpahtpy; epy mstPl;L Kiwia mwpKfg;gLj;jpath; ahh;?  
a. myhTjPd; fpy;[p  b. rpf;fe;jh; Nyhb  c. n~h;-~h-#hp   
d. mf;gh;    e. tpil njhpatpy;iy  

 
84. Find out the correct statement regarding Marudhu Brothers.  

I. They helped Kattabomman’s brother Oomaithurai and offered shelter. 
II. During third Mysore war his troops fought against British.  
III. On 24th October, 1801 they were hanged in Tirupathur fort.  
a. I and II   b. II and III     c. I and III 
d. All the above  e. Answer not known 
kUJghz;bah;fs; gw;wpa rhpahd $w;iwj; Njh;e;njL: 
I. fl;lnghk;kdpd; jk;gp Cikj;Jiuf;F milf;fyk; je;J ghJfhj;jdh; 
II. %d;whk; ik#h; Nghhpd; NghJ Mq;fpNyaUf;F vjpuhf ,th; Mjuthsh;fs; 

Nghhpl;ldh;.  
III. 1801 mf;Nlgh; 24-y; jpUg;gj;J}h; Nfhl;ilapy; J}f;fpyplg;gl;ldh;.  
a. I kw;Wk; II   b. II kw;Wk; III    c. I kw;Wk; III 
d. Nkw;$wpa midj;Jk;   e. tpil njhpatpy;iy 

 
85. Who is the editor of “Indian Review” 

a. G. Subramaniya Iyyer   b. G.A. Nadesan 
c. V. Krishnasamy    d. V.S. Srinivasa Sastri 
e. Answer not known 
“,e;jpad; nut;A+” vd;w gj;jpupf;ifapd; Mrpupau;. 
a. [p. Rg;gpukzpa ma;au;   b. [p.V. eNlrd; 
c. tp. fpU~;zrhkp    d. tp.v];. rPdpthr rh];jpup 
e. tpil njhpatpy;iy 

 
86. Which of monument at Delhi is the precursor of the Taj Mahal? 

a. The Moti Masjid (Lal Qila) b. Humayun tomb  c. Safdarjung tomb  
d. None of the above  e. Answer not known 
jh[;k`hypd; Kd;Ndhbahf> nly;ypapy; cs;s epidTr;rpd;dk; vJ? 
a. Nkhjp k#jp (yhy; fpyh)  b. `pkhA+d; fy;yiw c. rg;jh;[q; fy;yiw  
d. Nkw;$wpatw;Ws; vJTkpy;iy e. tpil njhpatpy;iy 

 
87. The Rajtarangini composed by Kalhana in the twelfth century is the main source of: 

a. History of Assam    b. History of Nepal 
c. History of Medieval Kashmir  d. Post-Gupta Economics 
e. Answer not known 
gd;dpnuz;lhk; E}w;whz;by; fy;`hduhy; ,aw;wg;gl;l uh[juq;fpzp E}ypd; Kf;fpa Mjhuk;  
a. m];]hkpd; tuyhW    b. Neghs tuyhW  
c. ,ilf;fhy fh~;kPh; tuyhW   d. Fg;jh;fSf;F gpe;ija nghUshjhuk;  

 e. tpil njhpatpy;iy 
 

88. Who is specified by the above statements? 
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1. A revolutionary terrorist force headed by him had received consultations, weapon 
supply and material assistance from European Countries. 

2. He ran a newspaper named ‘Suryodayam’ in Pondicherry. 
3. He founded Bharathamadha Sangam 
a. V.V.S. Iyer   b. Salem Vijayaragavachari  
c. Subramania Bharathi d. Neelakanda Brahmachari  
e. Answer not known  
fPo;f;fz;l $w;Wfs; ahiuf; Fwpg;gpLfpwJ? 
1. ,tu; jiyikapy; ,aq;fpte;j gaq;futhj Gul;rpg;gil INuhg;gpa ehLfspypUe;J 

MNyhridfisAk;> MAj cjtpiaAk;> nghUSjtpiaAk; ngw;W te;jJ. 
2. GJitapy; ‘#upNahjak;’ vd;w gj;jpupf;ifia elj;jp te;jhu;. 
3. ,th; ghujkhjh rq;fj;ij Njhw;Wtpj;jhh; 
a. t.Nt.R. ma;au;  b. Nryk; tp[auhfthr;rhup   c. Rg;gpukzpa ghujp 
d. ePyfz;l gpuk;krhup e. tpil njhpatpy;iy 

 
89. Which of the following statements about Bharathi is / are correct? 

1. When Lala Lajpat Rai was arrested and sent to prison, he penned poems named ‘Lajpat 
Rai Thudhi’, ‘Lajpat Rai Pravabam’ to condemn English Government and praise Rai’s 
sacrifice. 

2. He started the Monthly Vijaya in 1906 
a. 1 only   b. 2 only    c. Both 1 and 2  
d. None   e. Answer not known 
gpd;tUk; $w;Wfspy; ghujpahu; gw;wp rupahdit vit? 
1. yhyh y[gjpuha; ifJ nra;ag;gl;L rpiwapy; milf;fg;gl;l NghJ Mq;fpNya 

murhq;fj;ijf; fz;bj;Jk; uhapd; jpahfj;ijg; ghuhl;bAk; y[gjpuha; Jjp> y[gjpuha; 
gputhgk; vd;w ftpijfisg; Gide;jhh;. 

2. 1906Mk; Mz;by; tp[ah vd;w khj ,jioj; njhlq;fpdhh;. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2  
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
90. The first Muslim incursions on Deccan occurred during the reign of  

a. Balban   b. Raziya   c. Jalaluddin Khalji   
d. Firoz Tughluq  e. Answer not known 
jf;fhzj;jpy; Kjy; K];yPk; gilnaLg;G ahh; Ml;rpapd; NghJ epfo;e;jJ? 
a. ghy;gd;   b. u]pah   c. [yhYjPd; fpy;[p  
d. gpNuh]; Jf;sf;  e. tpil njhpatpy;iy 

 
91. Ibn Batuta came to India during which rulers reign? 

a. Akbar    b. Sher Shah   c. Muhammad Bin Tughlaq  
d. Alauddin Khilji  e. Answer not known 
,gd; gJ}jh ahUila Ml;rpf; fhyj;jpy; ,e;jpahtpw;F te;jhh;? 
a. mf;gh;   b. n~h;~h   c. KfkJ-gpd;-Jf;sf;   
d. myhTjPd; fpy;[p  e. tpil njhpatpy;iy 

 
92. Which of the following statements is /are correct? 

I. Rajaji took part in Khilafat meetings and orated in support of Yakub Hasan. 
II. On 10 April 1920, Khilafat conference led by Shaukat Ali was held in Madras 
III. In Tamil Nadu Khilafat movement was not supported by Justice party members.  

Swadeshi movement supporters and Liberal Party members. 
a. I, II, III   b. I, II     c. I, III 
d. II, III   e. Answer not known 
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gpd;tUk; $w;Wfspy; rupahdit vit? 
I. fpyhgj; $l;lq;fspy; fye;J nfhz;l uh[h[p ah$g; `hrid Mjupj;Jg; Ngrpdhu;. 
II. 1920 Vg;uy; 10 Mk; Njjp nrd;id efupy; nksyhdh nrsfj; mypapd; jiyikapy; 

fpyhgj; khehL eilngw;wJ. 
III. jkpo;ehl;by; ePjpf;fl;rpapdUk; Rahl;rp mq;fj;jpdUk;> ypguy; fl;rpapdUk; fpyhgj; 

,af;fj;ij Mjupf;ftpy;iy. 
a. I, II, III   b. I, II     c. I, III 
d. II, III   e. tpil njhpatpy;iy 

 
93. Which of the following statements about 1937 Anti-Hindi protests is/are correct? 

1. Hindi Policy brought by Rajaji government was the reason behind it. 
2. This protest was led by Periyar.  
3. During this protest, the slogan “Tamilnadu is for Tamils” was shouted 
4. Periyar was arrested for opposing Hindi and imprisoned in Amaravati jail. 
a. 1, 2, 3, 4   b. 1, 2, 3   c. 2, 3, 4 
d. 1, 2, 4   e. Answer not known 
1937 y; eilngw;w ,e;jp vjpu;g;G Nghuhl;lk; Fwpj;J rupahdit vit? 
1. uh[h[p murpdhy; nfhz;L tug;gl;l ,e;jp nfhs;ifNa ,jw;F fhuzk;. 
2. ,g;Nghuhl;lj;Jf;F jiyik jhq;fpatu; ngupahu;. 
3. ,g;Nghuhl;lj;jpd;NghJ ‘jkpo;ehL jkpoUf;Nf’ vd;w Kof;fk; vOg;gg;gl;lJ. 
4. ngupahu; ,e;jp vjpu;g;G fhuzkhf ifJ nra;ag;gl;L mkuhtjp rpiwapy; milf;fg;gl;lhu; 
a. 1, 2, 3, 4   b. 1, 2, 3   c. 2, 3, 4 
d. 1, 2, 4   e. tpil njhpatpy;iy 
  

94. Who was the court physician of kaniska? 
a. Charaka   b. Susruta   c. Danvantri  
d. Bhagabatta  e. Answer not known 
 fdp];fhtpd; mit kUj;Jth; ahh;?  
a. rufh    b. R];Ujh   c. jd;te;jphp 
d. ghfgl;lh   e. tpil njhpatpy;iy  

 
95. "The most unique feature of this site is its dockyard; the world's first tidal port, which 

served as main seaport for the Indus people".  
The above statement holds true for which site?  
a. Ropar   b. Lothal     c. Rakhigarhi  
c. Banawali  e. Answer not known 
“jsj;jpd; jdpj;Jtkhd mk;rk; tha;e;j fg;gy;Jiw; cyfpd; Kjy; miy rhu;e;j 
JiwKfk;> ,J rpe;J rkntsp kf;fSf;F kpf Kf;fpa JiwKfkhf ,Ue;jJ”. ,f;$w;W 
fPNo tUk; ve;j jsj;jpw;F nghUe;Jk;? 
a. Nuhg;ghh;  b. Nyhj;jy;    c. uhfpfup  
d. ghdhtsp  e. tpil njhpatpy;iy 

 
96. The number of representatives of Madras presidency in constituent assembly of India, 

a. 22  b. 39  c. 49  d. 52  e. Answer not known 
,e;jpa murpay; mikg;Gr; rl;lkd;wj;Jf;fhf nrd;id khepyj;jpypUe;J Nju;e;njLj;J 
mDg;gg;gl;l gpujpepjpfspd; vz;zpf;if 
a. 22  b. 39  c. 49  d. 52  e. tpil njhpatpy;iy 

 
97. Choose the kural for the following meaning 

What does it matter whether those men live or die, who can judge of tastes by the mouth, 
and not by the ear? 
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a. Not e'en through inadvertence speak they foolish word, 
With clear discerning mind who've learning's ample lessons heard. 

b. 'Tis hard for mouth to utter gentle, modest word, 
When ears discourse of lore refined have never heard. 

c. His mouth can taste, but ear no taste of joy can give! 
What matter if he die, or prosperous live?. 

d. Like staff in hand of him in slippery ground who strays 
Are words from mouth of those who walk in righteous ways. 

e. Answer not known 
nrtpahy; Nfs;tpr;Rit czuhky; thapd; RitAzh;T kl;Lk; cila kf;fs;> ,we;jhYk; 
vd;d? capNuhL tho;e;jhYk; vd;d?  
Nkw;fhZk; nghUspd; Fws; fhz;f 
a. gpioj;Jzh;e;Jk; Ngijik nrhy;yh hpioj;Jzh;e; 

jPz;ba Nfs;tp ath; 
b. Ezq;fpa Nfs;tpa uy;yhh; tzq;fpa 

thapd uhjy; mhpJ 
c. nrtpapw; RitAzuh thAzh;tpd; khf;fs; 

mtpapDk; thopDk; vd; 
d. ,Of;fy; cilAop Cw;Wf;Nfhy; mw;Nw 

xOf;f Kilahh;tha;r; nrhy; 
e. tpil njhpatpy;iy 

 
98. Who among the Gupta rulers was first to bear higher political title of Maharajadhiraja? 

a. Sri Gupta   b. Chandra Gupta I   c. Samudragupta  
d.  Chandra Gupta II e. Answer not known 
Fg;j Ml;rpahsh;fspy;> Fg;j tk;rj;jpd; cah;e;j murpay; gl;lkhd kfhuh[hjpuh[h vd;w 
gl;lj;ij Kjd; Kjypy; ngw;wth; ahh;?  
a. =Fg;jh;   b. Kjyhk; re;jpuFg;jh;   c. rKj;jpuFg;jh;  
d. ,uz;lhk; re;jpuFg;jh;  e. tpil njhpatpy;iy 

 
99. Which was the primary factor for Buddhism to become popular? 

a. It boosted cattle wealth 
b. It emphasisal non-violence 
c. It created the field of intellect and culture 
d. It was inclusive of women and lower section of society 
e. Answer not known 
ngsj;jk; Gfo;ngWtjw;F Kjd;ik fhuzpaha; mike;j fUj;J vJ? 
a. mJ Nkopr;nry;tj;ijg; Nghw;wpaJ 
b. mJ m`pk;iriag; Nghw;wpaJ 
c. mJ mwpTrhh; gz;ghl;il cUthf;fpaJ 
d. mJ ngz;fisAk; rKjhaj;jpypUe;j jho;e;j tFg;gpdiuAk; Nrh;j;Jf;nfhz;lJ 
e. tpil njhpatpy;iy 

 
100. “_________ Irandum Thangaa Viyanulagam 

Vaanam Vazhangadhu enin” 
(Though the wide world lease ______ and _________ if heaven its watery treasures cases to 
dispense) 
What are the two good deeds that will not happen according to this kural? 
a. Charity, Love (Dharmam, Anbu)  b. Gifts, Austerities (Dhaanam, Thavam) 
c. Penitence, Pleasure (Thavam, Inbam)  d. Virtue, Money (Aram, Porul) 
e. Answer not known 
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"__________ ,uz;Lk; jq;fh tpaDyfk;  
thdk; toq;fhJ vdpd;"  
Nkw;fhZk; jpUf;Fws; vt;tpidfs; eilngwhJ vd;W $WfpwJ? 
a. jh;kk;> md;G     b. jhdk;> jtk;   c. jtk;> ,d;gk;  
d. mwk;> nghUs;    e. tpil njhpatpy;iy 
 

101. Name the things which has to be eschewed for being virtuous  
a. malice, desire, anger  
b. malice, desire, anger and bitter speech 
c. malice, desire, anger and laziness 
d. malice, laziness, Procrastination, 
e. Answer not known 
vtw;iwf; fbj;J xOFtNj mwkhFk;? 
a. nghwhik> Mir> rpdk; ,tw;Wf;F ,lq;nfhLf;fhky; 
b. nghwhik> Mir> rpdk;> fLQ;nrhy; ,tw;Wf;F ,lq;nfhLf;fhky; 
c. nghwhik> Nguhir> kb ,tw;Wf;F ,lq;nfhLf;fhky; 
d. Nguhir> kb> neLJapy; ,tw;Wf;F ,lq;nfhLf;fhky; 
e. tpil njhpatpy;iy 

 
102. Which of the statement is correct regarding Muhammad Gawan? 

1. He rose to prominence during the reign of Alauddin Ahammad Shah II 
2. He was the chief Minister under Humayun 
3. He was a afagi 
4. He was executed by a sultan in 1481 
a. 1, 2 are correct 3, 4 are incorrect  b. 1, 3 are correct 2, 4 are incorrect 
c. 1, 2, 4 are correct 3 only incorrect d. All are correct 
e. Answer not known 
KfkJ fthid gw;wpajpy; fPo;fz;ltw;wpy; rhpahd $w;W vJ? 
1. ,uz;lhk; myhTjPd; mfkJ ~h fhyj;jpy; KfkJ fthd; gpurpj;jp ngw;wtuhf ,Ue;jhh;. 
2. `pkhAd; fhyj;jpy; ,th; Kjy; ke;jphpahf ,Ue;jhh;. 
3. KfkJ fthd; xU mghf;fp 
4. 1481 Mk; Mz;L Ry;jhdhy; KfkJ fthd; nfhy;yg;gl;lhh;. 
a. 1> 2 kl;Lk; rhp> 3> 4 jtwhdJ  b. 1> 3 kl;Lk; rhp> 2> 4 jtwhdJ 
c. 1> 2> 4 kl;Lk; rhp> 3 kl;Lk; jtwhdJ d. midj;Jk; rhpahdJ 
e. tpil njhpatpy;iy 

 
103. Choose the correct statements? 

1. The relation between the Portuguese and Vijayanagar began in the region of 
Krishnadevaraya. 

2. Vaskate II received a letter form Philip II king of Spain for protection of trade. 
3. Atonia Cabral met Akbar at Surat. 
4. Akbar dispatched an embassy to Philip II and they reached Portugal in 1582 
a. 1, 2, 3 are correct 4 only incorrect b. 1, 2 are correct 3, 4 are incorrect 
c. 2, 3, 4 are correct 1 is incorrect  d. 3 only correct 1, 2, 4 are incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; rhpahdJ vJ? 
1. Nghu;r;RfPrpaUf;Fk; tp[aefu muRf;Fk; fpU~;zNjtuhah; fhyj;jpy; cwTfs; 

njhlq;fpaJ. 
2. ,uz;lhk; Nt];flh; ];ngapd; kd;dd; ,uz;lhk; gpypg;gplk; ,Ue;J thzpg eyd; 

fbjq;fis ngw;whh;. 
3. mNlhdpah> Nfguy; mf;giu #uj;jpy; re;jpj;jhu;. 
4. mf;gu; ,uz;lhk; gpypg;gpw;F J}J FO xd;iw mDg;gp mj;J}Jf;FO 1582y; Nghh;r;Rfis 

mile;jJ. 
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a. 1> 2> 3 rhp 4 jtwhdJ   b. 1> 2 rhp 3> 4 jtwhdJ 
c. 2> 3> 4 rhpahdJ 1 kl;Lk; jtwhdJ d. 3 kl;Lk; rhpahdJ 1> 2> 4 jtwhdJ 
e. tpil njhpatpy;iy 

 
104. Find out the incorrect pair 

a. Article 54 – Election of President 
b. Article 55 – Manner of Election of President 
c. Article 56 – Term of Office of President 
d. Article 57 – Qualifications for Election as President 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. rl;lf;$W 54 – FbauR jiyth; Njh;jy; 
b. rl;lf;$W 55 – FbauR jiyth; Njh;e;njLf;fg;gLk; Kiw 
c. rl;lf;$W 56 – FbauR jiythpd; gjtpf;fhyk; 
d. rl;lf;$W 57 – FbauR jiyth; Mtjw;fhd jFjpfs; 
e. tpil njhpatpy;iy 
 

105. The term hospitality means giving food to _________ 
a. Old people   b. Relatives   c. Poor  
d. Unknown people e. Answer not known 
tpUe;Njhk;gy; vd;w nrhy; jk; ,y;yk; Njb tUk; _____ f;F czT mspj;Jr; rpwg;G nra;j 
epiyikiaf; Fwpf;Fk; 
a. KjpNahUf;F  b. cwtpdh;fSf;F  c. twpath;fSf;F  
d. Gjpath;fSf;F  e. tpil njhpatpy;iy 
 

106. The chapter charity comes under which Part? 
a. Paiyiram  b. Illaraviyal    c. Thuravaraviyal  
d. Oozhiyal  e. Answer not known 
<if vDk; mjpfhuk; mike;Js;s ,ay; vJ? 
a. ghapuk;  b. ,y;ywtpay;   c. Jwtwtpay; 
d. Copay;  e. tpil njhpatpy;iy 
 

107. Choose the correct statements 
1. Droupadi Murmu is the 15th President of India 
2. She assumed office on 25.07.2022 
3. She is the youngest president of India 
4. Prior to her presidency she served as the ninth governor of Jharkhand  
a. 1, 2, 4   b. 2, 3, 4   c. 2, 3 
d. All are correct  e. Answer not known 
rhpahd $w;Wfis Njh;r 
1. jpnusgjp Kh;K ,e;jpahtpd; 15tJ FbauR jiyth; Mthh; 
2. mth; 25.07.2022 md;W FbauR jiytuhf nghWg;Ngw;whh; 
3. mth; ,e;jpahtpd; ,sk; FbauR jiytuhthh; 
4. FbauR jiyth; Mtjw;F Kd;G ,th; [hh;fz;l;bd; xd;gjhtJ MSeuhf 

gzpahw;wpdhh;. 
a. 1> 2> 4   b. 2> 3> 4   c. 2> 3 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

108. Which of the following states is not included in the sixth schedule of Indian Constitution?  
a. Meghalaya  b. Tripura  c. Mizoram   d. Manipur e. Answer not known 
gpd;tUtdtw;Ws; ,e;jpa murpayikg;gpy; MwhtJ ml;ltizapy; ,lk;ngwhj khepyk;> 
vJ?  
a. Nkfhyah  b. jphpGuh c. kpNrhuk;  d. kzpg;G+h;  e. tpil njhpatpy;iy 

https://en.wikipedia.org/wiki/List_of_governors_of_Jharkhand
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109. Which Kural is similar to the following Kural? 
Though great the gain of good should seem, the wise 
Will any gain by staughter won despise. 
a. What his own soul has felt as bitter pain, 

From making others feel should man abstain. 
b. Whose soul has felt the bitter smart of wrong, how can 

He wrongs inflict on ever-living soul of man? 
c. Though ill to neighbour wrought should glorious pride of wealth secure, 

No ill to do is fixed decree of men in spirit pure. 
d. O'er every evil-doer evil broodeth still; 

He evil shuns who freedom seeks from ill. 
e. Answer not known 
ed;whFk; Mf;fk; nghpnjdpDk; rhd;Nwhh;f;Ff; 
nfhd;whFk; Mf;fq; fil 
vd;w Fwspid xj;j Fws; vJ? 
a. ,d;dh vdj;jhd; czh;e;jit Jd;dhik 

Ntz;Lk; gpwd;fz; nray; 
b. jd;Daph;f;F Vd;dhik jhdwpthd; vd;nfhNyh 

kd;Daph;f;F ,d;dh nray; 
c. rpwg;gPDk; nry;tk; nghpDk; gpwh;f;F,d;dh 

nra;ahik khrw;whh; Nfhs; 
d. Nehnay;yhk; Neha;nra;jhh; Nkythk; Neha;nra;ahh; 

Nehapd;ik Ntz;L gth; 
a. tpil njhpatpy;iy 
 

110. “One’s knowledge depends on how he learns”-What is the simile that Thiruvalluvar uses 
in this meaning? 
a. When water flows like a flood  
b. In sandy soil, when deep you delve, you reach the springs below  
c. When flowers, in barren soil, on sapless trees, shall blow  
d. Like staff in hand of him in slippery ground  
e. Answer not known 
'kf;fs; fy;tp fw;w mstpw;F mwpT CWk;" - ,g;nghUSf;Fj; jpUts;Sth; $Wk; ctik 
vJ?  
a. nts;sj; jida kyh;ePl;lk;  
b. njhl;lidj; J}Wk; kzw;Nfzp  
c. tw;wy; kuk; jsph;j; jw;W  
d. ,Of;fy; cilAop Cw;Wf;Nfhy;  
e. tpil njhpatpy;iy 

 
111. The Official Languages Act 1963 provided that _______?  

a. Hindi is only official language of India  
b. Use of English to be continued in addition to Hindi for Official Purpose  
c. Special status to English  
d. All the above 
e. Answer not known 
mYty; nkhopr;rl;lk; 1963> vij toq;fpaJ?  
a. ,e;jpahtpd; xNu mYty; nkhop `pe;jpkl;Lk; 
b. mYtyf nkhopahf ,e;jpAld; Mq;fpyKk; njhlh;e;J gad;ghl;by; ,Uf;Fk;.  
c. Mq;fpyj;jpw;F rpwg;G mjpfhuk;  
d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
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112. Match the following  
 National Symbols  Adopted Years 
 A. Peacock   1. 1950 
 B. Elephant    2. 1963   
 C. Lactobacillus  3. 2010 
 D. Mango    4. 2012 
     5. 1976 
  A B C D 
 a. 4 2 1 5 
 b. 2 3 4 1 
 c. 2 4 3 2   
 d.  4 5 2 1 

nghUj;Jf:  
Njrpa rpd;dq;fs;  Vw;Wf;nfhs;sg;gl;l Mz;L  
A. kapy;   1. 1950 
B. ahid    2. 1963 
C. Nyf;NlhNgrpy;y]; 3. 2010 
D. kh    4. 2012 

5. 1976 
  A B C D 
 a. 4 2 1 5 
 b. 2 3 4 1 
 c. 2 4 3 2   
 d.  4 5 2 1 

 

113. The Central government has implemented ________ recommendations of the Sarkaria 
Commission.  
a. 180 out of 247  b. 181 out of 249  c. 182 out of 246   
d. 183 out of 248  e. Answer not known 
rh;f;fhhpah FOtpd; ghpe;Jiufspy; ____I kj;jpa muR nray;gLj;jpAs;sJ?  
a. 247-y; 180   b. 249-y; 181   c. 246-y; 182    
d. 248-y; 183   e. tpil njhpatpy;iy 
 

114. Which two Tamil works considers numbers and letters are two eyes of living beings? 
a. Thirukkural, Kambaramayanam b. Thirukkural, Naladiyar 
c. Thirukkural, Konraivendhan  d. Thirukkural, Purananooru 
e. Answer not known 
vz;izAk; vOj;ijAk; thOk; caph;fSf;F fz;fshf fUjpa E}y;fs; vit? 
a. jpUf;Fws;> fk;guhkhazk;  b. jpUf;Fws;> ehybahh; 
c. jpUf;Fws;> nfhd;iwNte;jd;  d. jpUf;Fws;> GwehD}W 
e. tpil njhpatpy;iy   
 

115. Who is greater than doners and sages? 
a. He who speaks the truth with full consenting mind 
b. Learned people 
c. King who saves his people 
d. Family man 
e. Answer not known 
jhdk;> jtk; nra;Nthiutpl NkyhNdhh; ahh;? 
a. kdj;njhL tha;ik nkhopgth;  b. fy;tp fw;Nwhh; 
c. kf;fis fhf;Fk; murh;   d. ,y;tho;thd; 
e. tpil njhpatpy;iy 
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116. In how much time will a sum of Rs. 1600 amount to Rs. 1852.20 at 5% per annum 
compound interest. 
a. 2 years   b. 4 years    c. 3 years   
d. 6 years   e. Answer not known 
&. 1600> 5% Mz;L $l;L tl;bapy; &. 1852.20 Mf vt;tsT fhykhFk;?  
a. 2 Mz;L  b. 4 Mz;L     c. 3 Mz;L   
d. 6 Mz;L  e. tpil njhpatpy;;iy  

 
117. A printer, prints a book of 300 pages at the rate of 30 pages per minute. Then, how long will 

it take to print the same book if the speed of the printer is 25 pages per minute?  
a. 6 minutes    b. 9 minutes   c. 12 minutes  
d. 25 minutes   e. Answer not known 
Xu; mr;R ,ae;jpuk; 300 gf;fq;fisf; nfhz;l xU Gj;jfj;ij 1 epkplj;jpy; 30 gf;fq;fs; 
vd mr;rpLfpwJ. mt;tr;R ,ae;jpuk; mNj Gj;jfj;ij 1 epkplj;jpy; 25 gf;fq;fs; vd 
mr;rpl;lhy;> mr;rpl;L Kbf;f vj;jid epkplq;fs; MFk;? 
a. 6 epkplq;fs;   b. 9 epkplq;fs;  c. 12 epkplq;fs;  
d. 25 epkplq;fs;  e. tpil njhpatpy;;iy  

 
118. Raman’s age is three times the sum of the ages of his two sons. After 5 years his age will be 

twice the sum of the ages of his two sons. Then the present age of Raman is what?  
a. 45   b. 55     c. 65 
d. 70   e. Answer not known 
,uhkdpd; taJ mtUila ,U kfd;fSila taJfspd; $Ljiyg;Nghy; %d;W 
klq;fhFk;. Ie;jhz;Lfs; fopj;J mthpd; taJ jdJ kfd;fSila taJfspd; $Ljiyg; 
Nghy; ,U klq;fhFk; vdpy; ,uhkdpd; jw;Nghija taJ vd;d? 
a. 45   b. 55     c. 65 
d. 70   e. tpil njhpatpy;iy 

 
119. Find the LCM of 5x -10, 5x2 - 20 

a. 5(x + 2)(x − 2)  b. 5(x + 1)(x − 1)  c. 20 (x +2)(x −2)   
d. 25 (x + 1)(x − 1)  e. Answer not known 
5x -10, 5x2 – 20 kP.rp.t fhz;f  
a. 5(x + 2)(x − 2)  b. 5(x + 1)(x − 1)  c. 20 (x +2)(x −2)   
d. 25 (x + 1)(x − 1)  e. tpil njhpatpy;iy 

 

120. Find x if 
1 1 1 1

: :: :
5 1.25x x

 

a. 
2

5
  b. 

5

2
   c. 

1

5
   d. 

3

5
  e. Answer not known 

1 1 1 1
: :: :

5 1.25x x
 vdpy;> x d; kjpg;G fhz;f: 

a. 
2

5
  b. 

5

2
   c. 

1

5
   d. 

3

5
   e. tpil njhpatpy;iy 

 
121. “That is a land that yields increase …..” What is the message in this Thirukkural? 

a. Policies of a best country  b. A country’s Resources c. Problems in a country  
d. Policies of a bad country  e. Answer not known 
“ehnld;g ehlh tsj;jd” vd;w Fwspy; $wg;gLk; nra;jp 
a. ey;y ehl;bw;fhd ,yf;fzk; b. ehl;bd; tsk;  c. ehl;by; Vw;gLk; jPq;F  
d. jPa ehl;bw;fhd ,yf;fzk; e. tpil njhpatpy;iy 
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122. Madras Presidency was created by  
a. Warren Hastings  b. Lord Wellesley   c. Lord Canning    
d. Robert Clive  e. Answer not known 
nkl;uh]; khfhzj;ij cUthf;fpath; ahh;?  
a. thud; N`];bq;];  b. nty;ny];yp gpuG   c. fhdpq; gpuG    
d. ,uhgh;l; fpist;   e. tpil njhpatpy;iy 
 

123. Which of the British official is behind the award of “Panchami lands” in the then Madras 
Presidency? 
a.Ash     b. Tremancre   c. Robert Clive   
d. Arthur Cotton  e. Answer not known 
mg;Nghija nrd;id khfhzj;jpy; “gQ;rkp epyq;fis” toq;Ftjw;Ff; fhuzkhf ,Ue;j 
gpupl;b]; mYtyu; ahu;? 
a.M];    b. l;upkhd;fu;    c. uhgu;l; fpist;   
d. Mu;ju; fhl;ld;  e. tpil njhpatpy;iy 
 

124. Though sharp their wit as file, as blocks they must remain,  
In the above Thirukkural whom does Thiruvalluvar refer to as sharp and their wit is file?  
a. The one who does not speak truth  
b. The one who does not have human courtesy  
c. The one who has no wealth 
d. The one who has no foes 
e. Answer not known  
muk;NghYk; $h;ik yNuDk; kuk;Nghy;th; ahh;? 
a. cz;ik ,y;yhjth;  b. kf;fl; gz;gpy;yhjth;  c. nghUs; ,y;yhjth;  
d. gif ,y;yhjth;  e.  tpil njhpatpy;iy 
 

125. e-Sanad scheme is under _____ 
a. Ministry of skill development   b. Ministry of external affairs 
c. Ministry of education    d. Ministry of Labour 
e. Answer not known 
E-rdj; jpl;lk; vjd;fPo; nray;gLfpwJ? 
a. jpwd; Nkk;ghl;L mikr;rfk;   b. ntspAwTj; Jiw mikr;rfk; 
c. fy;tp mikr;rfk;     d. njhopyhsh; ey mikr;rfk; 
e. tpil njupatpy;iy 
 

126. Match agencies that promote industrialization in state with their year of formation. 
A. SIPCOT   1. 1949 
B. TANSIDCO  2. 1965 
C. TIDCO   3. 1965 
D. TIIC   4. 1970 
E. TANSI   5. 1971 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 5 4 3 1 2 
d. 1 2 4 3 5 
e. Answer not known 
njhopy;kakhf;fis Cf;Ftpf;Fk; Kfik kw;Wk; mtw;iw cUthf;fpa Mz;ilg; 
nghUj;Jf 
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A. SIPCOT   1. 1949 
B. TANSIDCO  2. 1965 
C. TIDCO   3. 1965 
D. TIIC   4. 1970 
E. TANSI   5. 1971 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 5 4 3 1 2 
d. 1 2 4 3 5  e. tpil njhpatpy;iy 

 
127. What are the Criteria to be recognised as a regional Party? 

a. 6% votes in legislative assembly election and atleast 2 seats in state legislative assembly 
election 

b. win one (out of 25 seats) in Loksabha or 2 seats in legislative assembly. 
c. minimum 3% of total seats in assembly 
d. All the above 
e. Answer not known 
xU gpuhe;jpa fl;rpahf mq;fPfhuk; ngw vd;ndd;d Kfhe;jpuq;fs; Njit?  
a. rl;l Nguitj; Njh;jypy; 6% thf;Ffs; ngw;wpUf;f Ntz;Lk; kw;Wk; rl;lg;Nguitj; 

Njh;jypy; Fiwe;jJ 2 ,lq;fs; ngw;wpUf;f Ntz;Lk;. 
b. rl;lrigapy; xU ,lKk; (25y;) rl;lg; Nguitapy; 2 ,lq;fSk; ntw;wp ngw;wpUf;f 

Ntz;Lk;. 
c. rl;lg; Nguitapy; nkhj;j ,lq;fspy; Fiwe;jgl;rk; 3 cWg;gpdh; ,Uf;f Ntz;Lk;  
d. midj;Jk; rhpahdit 
e. tpil njhpatpy;iy 

 

128. Choose correct statement regarding National Water award for the year 2020 
i. Uttar Pradesh – 1st, Rajasthan – 2nd, Tamil nadu – 3rd 
ii. Vellaputhur Village Panchayat – 2nd – Best Village Panchayat Category 
iii. Kaveripatinam Girl School – 1st in School Category. 
a. i, ii  b. ii, iii c. i, iii  d. all of the above  e. Answer not known 
2020 Mk; Mz;bd; Njrpa ePu; tpUJ Fwpj;j rupahd $w;Wfisf; fz;lwpf 
i. cj;ju gpuNjrk; - Kjyplk;> ,uh[];jhd; - ,uz;lhk; ,lk;> jkpo;ehL - %d;whk; ,lk; 
ii. nts;sg;GJ}H Cuhl;rp - ,uz;;lhtJ rpwe;j Cuhl;rp 
iii. fhNtupg;gl;bdk; ngz;fs; Nky;epiyg;gs;sp – gs;spg;gpuptpy; Kjyplk; 
a. i, ii  b. ii, iii c. i, iii  d. Nkw;$wpa midj;Jk; e. tpil njupatpy;iy 

 

129. Consider the following statements regarding the objectives of Sivagami Ammayar 
memorial Girl Child protection scheme. 
1) To ensure Girl children education  
2) To encourage parents to adopt family planning 
3) Social and financial empowerment of Girl child 
4) To encourage girls to get married only after age of 21. 
a. 2, 3 are correct  b. 1, 2, 3 are correct  c. 1, 3 are correct   
d. 1, 3, 4 are correct  e. Answer not known 
rptfhkp mk;ikahh; epidT ngz;Foe;ij ghJfhg;Gj; jpl;lj;jpd; Nehf;fq;fs; Fwpj;j 
gpd;tUk; $w;Wfis Ma;f. 
1. ngz; Foe;ijfs; fy;tp ngWtij cWjp nra;jy;. 
2. FLk;gf; fl;Lg;ghL nra;J nfhs;s ngw;Nwhh;fis Cf;Ftpj;jy;. 
3. ngz; Foe;ijfSf;F r%f kw;Wk; epjpepiyapy; mjpfhuj;jpiz toq;Fjy; 
4. 21 tajpw;F gpwF jpUkzk; nra;J nfhs;s ngz; Foe;ijfis Cf;Ftpj;jy;.  
a. 2, 3 rhp   b. 1, 2, 3 rhp    c. 1, 3 rhp   
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d. 1, 3, 4 rhp   e. tpil njhpatpy;iy 
 
130. Consider Articles under 73rd constitutional Amendment Act 1992. 

A. Article 243 A  1. Gram Sabha 
B. Article 243 D  2. Reservation of seats 
C. Article 243 I  3. State Finance Commission 
D. Article 243 K  4. State Election Commission 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 2 1 3 4 
e. Answer not known 
73tJ murpayikg;Gj; jpUj;jr; rl;lk; 1992-d; ruj;Jfisf; fUJf.  
A. rl;lf;$W 243 A  1. fpuhk rig 

B. rl;lf;$W 243 D  2. ,l xJf;fPl;L Kiw  
C. rl;lf;$W 243 I  3. khepy epjpf;FO  
D. rl;lf;$W 243 K  4. khepy Njh;jy; Mizak;  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 2 1 3 4 
e. tpil njhpatpy;iy 

 
131. Arrange the Following Presidents in chronological order  

1. Sarvapalli Radhakrishnan   2. V.V. Giri  3. Fakruddin Ali Ahmed   
4. Neelam Sanjeev Reddy    5. K R Narayanan  
a. 2, 1, 3, 4, 5    b. 1, 2, 3, 4, 5     c. 1, 3, 4, 2, 5   
d. 1, 3, 4, 5, 2   e. Answer not known 
FbauRj;jiyth;fspd; ngah;fis fhythpirg;gLj;Jf.  
1. rh;tg;gs;sp uhjhfpU~;zd; 2. V.V. fphp   3. gf;UjPd; myp m`kj; 
4. ePyk; rQ;rPtnul;b   5. K.R ehuhazd;  
a. 2, 1, 3, 4, 5    b. 1, 2, 3, 4, 5     c. 1, 3, 4, 2, 5   
d. 1, 3, 4, 5, 2   e. tpil njhpatpy;iy 

 
132. Consider the following statements 

1. National Commission for Women Act was enacted in 1992 
2. Tamil Nadu state commission for women was established in 1993. 
a. 1 alone is correct  b. 2 alone is correct  c. Both are correct   
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f.  
1. Njrpa kfsph; Mizar; rl;lk; 1992y; ,aw;wg;gl;lJ. 
2. jkpo;ehL kfsph; Mizak; 1993y; njhlq;fg;gl;lJ. 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp   c. ,uz;Lk; rhp   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

133. Under Protection of Women from Domestic Violence Act 2005, a women victim can get 
immediate civil remedies within ___ days. 
a. 30  b. 60  c. 90  d. 120  e. Answer not known 



 

35 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

FLk;g td;Kiwapy; ,Ue;J ngz;fisg; ghJfhf;Fk; rl;lk;> 2005-d; fPo; ghjpf;fg;gl;l ngz; 
_________ ehl;fSf;Fs; cldb chpikapay; (rptpy;) jPh;tpidg; ngw;Wf; nfhs;syhk;. 

a. 30  b. 60  c. 90  d. 120  e. tpil njhpatpy;iy 
134. Match the following  

A. This will not prevent any appointment  
or reservation among BC if sufficient Representation    
is not provided       1. Article 340  
B. Advancement of educationally Backward class or   
     SC or ST        2. Article 29 (2) 
C. No citizen shall be denied admission into  
Educational institution receiving Funds from state  3. Article 16 (4) 
D. Backward class commission      4. Article 15 (4) 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 3 2 4 1   
d. 1 2 3 4 
e. Answer not known  
nghUj;Jf:  
A. Nghjpa gpujpepjpj;Jtk; ngwhj gpw;gLj;jg;gl;l tFg;gpdUf;fhd  
gzpepakdq;fspy; ,l xJf;fPL toq;f ,t;tpjp jilahf ,Uf;fhJ 1. rl;lf;$W 340  
B. fy;tpapy; gpw;gLj;jg;gl;l tFg;gpdh; (m) gl;bay; 
   rhjp (k) goq;Fbapdiu Kd;Ndw;Wjy;    2. rl;lf;$W 29(2)  
C. murpd; epjpAjtp ngWk; fy;tp epWtq;fspy;  
  ve;jnthU FbkfDf;Fk; mDkjp kWf;fg;glhJ   3. rl;lf;$W (16(4)  
D. gpw;gLj;jg;gl;l tFg;gpdh; Mizak;      4. rl;lf;$W 15(4)  
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 3 2 4 1   
d. 1 2 3 4  
e. tpil njhpatpy;iy 

 
135. Which of the following is/are correctly matched pairs? 

i. Primary factors    - land and labour 
ii. Derived factors    - capital and land 
iii. Fourth factor of production   - Entrepreneurship and organization 
a. i, ii    b. ii, iii   c. i, iii   
d. all the above  e. Answer not known 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpa ,izfs; vit? 
i. Kjd;ik cw;gj;jpf; fhuzpfs; - epyk; kw;Wk; ciog;G 
ii. ngwg;gl;l cw;gj;jpf; fhuzpfs; - %yjdk; kw;Wk; epyk; 
iii. ehd;fhtJ cw;gj;jpf; fhuzp  - njhopy; KidNthu; kw;Wk; mikg;G 
a. i, ii    b. ii, iii   c. i, iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
136. Choose correct statements regarding third genders in Tamil Nadu? 

1. Tamil Nadu is the first state in India to establish welfare board for 3rd genders. 
2. Bank loan upto 15 lakh with 25% subsidy are provided for third gender SHG. 
3. Monthly pension of Rs. 1000 for all transgenders by Tamil Nadu Government. 
a. 1, 2  b. 2, 3  c. 1, 3  d. 1, 2, 3 e. Answer not known 
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jkpo;ehl;by; %d;whk; ghypdj;jth; Fwpj;j rhpahd $w;Wfisf; fz;lwpf. 
1. ,e;jpahtpNyNa %d;whk; ghypdj;jtUf;fhf ey thhpak;; njhlq;fpa Kjy; khepyk; 

jkpo;ehL MFk;. 
2. 25 rjtPj khdpaj;Jld; 15 yl;rk; tiu tq;fpf;fld; %d;whk; ghypdj;jtUf;F kfsph; 

Ra cjtpf; FOf;fs; %ykhf toq;fg;gLfpwJ. 
3. midj;J jpUeq;ifaUf;Fk; khjk; Rs. 1000 Xa;T+jpakhf jkpo;ehL murhy; 

toq;fg;gLfpwJ. 
a. 1, 2  b. 2, 3  c. 1, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 
 

137. Consider the following statements regarding to recent NITI AYOG’s MDPI report. 
1. Tamil Nadu one of the best state in eradicating poverty among bigger states. 
2. Ariyalur district in Tamil Nadu is the poorest district. 

a. 1 alone is correct   b. 2 alone is correct  c. Both are correct  
d. Both are wrong   e. Answer not known 
rkPgj;jpy; NITI AYOG-d; MDPI njhlh;ghd gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. nghpa khepyq;fspy; tWikia xopg;gjpy; jkpo;ehL Kd;dpiyapy; cs;sJ. 
2. jkpo;ehl;by; mhpaY}h; khtl;lk; Vo;ikahd khtl;lk;. 

a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 

138. Which is incorrect about the sovereign of India? 
a. India can acquire a foreign territory 
b. India cannot cede part of its territory in favour of a foreign state 
c. It is free to conduct its own affairs both internal and external 
d. India is neither a dependency nor a dominion of any other nation 
e. Answer not known 
,e;jpa ,iwahz;ikiag; nghWj;J jtwhdJ vJ?  
a. ,e;jpah ntspehl;L epyg;gug;igg; ngw KbAk;  
b. ,e;jpah ntspehl;L muRf;F rYifaspf;Fk; tpjkhf mjd; epyg;gug;gpy; xU gFjpia 

tpl;Lj;ju KbahJ.  
c. jdJ cs;ehl;L kw;Wk; ntspehl;L cwTfisg; NgZtjpy; mJ Rje;jpukhdJ.   
d. ,e;jpah ve;jnthU ehl;bw;Fk; fl;Lg;gl;lNjh my;yJ Nkyhjpf;fk; ngw;wNjh my;y  
e. tpil njhpatpy;iy 

 

139. Match the following  
A. 10th amendment       1. Sikkim 
B. 14th amendment       2. Daman and Diu 
C. 12th amendment       3. Dadra and Nagar Haveli 
D. 36th amendment       4. Puducherry 
 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 4 3 2 1 
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf:  
A. 10tJ jpUj;jk;  1. rpf;fpk;  
B. 14tJ jpUj;jk;  2. lhkd; kw;Wk; ilA+ 
C. 12tJ jpUj;jk;  3. jhj;uh kw;Wk; ehfh;`Ntyp 
D. 36 tJ jpUj;jk;  4. GJr;Nrhp  
 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
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c. 4 3 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

140. Which is the only state in India that has established a department exclusively for welfare of 
Differently abled persons? 
a. Kerala   b. Telangana    c. Karnataka  
d. Tamil Nadu  e. Answer not known 
khw;Wj;jpwdhspfs; eyDf;fhf gpuj;jpNafkhf xU Jiwia epWtpa ,e;jpahtpd; xNu 
khepyk; vJ? 
a. Nfush   b. njYq;fhdh    c. fu;ehlfk;  
d. jkpo;ehL   e. tpil njhpatpy;iy 
 

141. Consider the following statements regarding Mandal Commission. 
1. 6-member Commission was established based on Article 340  
2. Announcement was made by Morarji Desai on 20.12.1978 in Parliament. 
3. Reported on 31.12.1980. 
4. Recommended 27% reservation for OBC. 
a. 2, 3, 4 are correct   b. 1, 3, 4 are correct  c. 1, 2, 4 are correct  
d. All are correct   e. Answer not known 
kz;ly; FO Fwpj;j gpd;tUk; thf;fpaq;fis ftdpf;fTk. 
1. gphpT 340-d; mbg;gilapy; 6 Ngh; nfhz;l Mizak; mikf;fg;gl;lJ. 
2. ehlhSkd;wj;jpy; 20.12.1978 md;W nkhuh[p Njrha; mth;fshy; mwptpg;G 

ntspaplg;gl;lJ. 
3. 31.12.1980 md;W mwpf;if rkh;gpf;fg;gl;lJ. 
4. OBC f;F 27% ,l xJf;fPL ghpe;Jiuf;fg;gLfpwJ. 
a. 2, 3, 4 rhp    b. 1, 3, 4 rhp   c. 1, 2, 4 rhp 
d. midj;Jk; rhp   e. tpil njhpatpy;iy 

 
142. In the legislative procedure, if the cut motion aims to reduce the demand by 1 rupee only 

the motion will be known as 
a. Economy cut motion  b. Token cut motion   c. policy cut motion  
d. Minimum cut motion  e. Answer not known 
rl;lkd;w eilKiwfs; Nfhug;gLk; rYifapy; 1 Nghia kl;Lk; Fiwf;Fk; jPu;khdkhdJ 
miof;fg;gLtJ _________  
a. nghUshjhu ntl;Lj; jPu;khdk;   b. Kj;jpiu ntl;Lj; jPu;khdk;  
c. nfhs;if ntl;Lj; jPu;khdk;   d. Fiwe;j ntl;Lj; jPu;khdk;  
e. tpil njhpatpy;iy 

 
143. Which of the following are included in the directive principle of state policy in the 

constitution of India? 
1. Uniform civil code for the citizens 
2. Separation of judiciary from executive 
3. Protection of monuments of national importance 
Select the correct answer by using the codes given below: 
a. 1 and 2   b. 2 and 3   c. 1 and 3   
d. 1, 2 and 3   e. Answer not known 
gpd;tUtdtw;wpy; vJ ,e;jpa murikg;G topfhl;Lk; newpKiwfSf;Fs; Nrh;f;fg;gl;Ls;sJ? 
1. Fbkf;fSf;fhd nghJ cupikapay; rl;lk; 
2. ePjpj;Jiwia epu;thfj;jpypUe;J gpupj;jy; 
3. Njrpa Kf;fpaj;Jtk; tha;e;j epidTr; rpd;dq;fisg; ghJfhj;jy; 
fPo;f;fz;ltw;wpypUe;J cq;fs; gjpiyj; Njh;e;njLf;fTk; 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3   
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d. 1,2 kw;Wk; d 3  e. tpil njhpatpy;iy 
 

 
144. Which one of the following parliamentary committees consist exclusively of members of 

the Lok Sabha? 
a. The public accounts committee  
b. The estimates committee 
c. The committee of public undertaking 
d. The committee on the welfare of scheduled castes and scheduled tribes 
e. Answer not known 
gpd;tUk; ve;j ghuhSkd;wf; Fof;fspy; kf;fsit cWg;gpdh;fis kl;LNk nfhz;l FO 
vJ? 
a. nghJf; fzf;FFO 
b. kjpg;gPl;Lf;FO 
c. nghJ epWtdf;FO   
d. gl;bay; rhjpapdh; kw;Wk; goq;Fbapdh; eyd; Fwpj;j FO 
e. tpil njhpatpy;iy 

 
145. Consider the following statements regarding Tamilnadu Slum Clearance Board. 

1. It was established in 1971. 
2. It was renamed as Tamil Nadu Urban Habitat Development Board in 2020. 
3. The Activities of Board is related to Chennai alone. 
a. 1, 2 are correct  b. 1, 3 are correct   c. 2, 3 are correct   
d. All are incorrect  e. Answer not known 
jkpo;ehL Fbir xopg;G thhpak; njhlh;ghd gpd;tUk; $w;Wfis ftdpf;fTk;. 
1. ,J 1971-y; epWtg;gl;lJ. 
2. 2020-y; ,J jkpo;ehL efh;g;Gw tho;tpl Nkk;ghl;L thhpak; vd kWngahplg;gl;Ls;sJ. 
3. thhpaj;jpd; nray;ghLfs; nrd;idAld; njhlh;GilaJ. 
a. 1, 2 rhp   b. 1, 3 rhp    c. 2, 3 rhp    
d. midj;Jk; jtW  e. tpil njhpatpy;iy 
 

146. Which district is occupying the first rank in Gender Inequality Index in Tamil Nadu? 
a. Virudhunagar  b. Chennai   c. Nilgiris    
d. Kanyakumari  e. Answer not known 
jkpo;ehl;bd; ghypd rkj;Jtkpd;ik FwpaPl;by; ve;j khtl;lk; Kjy; ,lj;jpy; cs;sJ. 
a. tpUJefh;   b. nrd;id   c. ePyfpup    
d. fd;dpahFkup  e. tpil njhpatpy;iy 

 
147. Consider the following statements related to Article – 368 of the constitution: 

1. The Constitutional amendment bill can be introduced by a minister or by any member 
of parliament with the prior permission of the president. 

2. There is a provision for holding a joint sitting of both the houses of parliament if there is 
a deadlock over the passage of a constitutional amendment bill. 

3. It is not obligatory for the President to give his assent to a constitutional amendment bill 
passed under article – 368. 

4. To amend Seventh Schedule of the constitution, ratification of half of the state 
legislature’s is essential. 

Which of these statements is/are correct? 
a. (1) only    b. (2) and (3)   c. (4) only   
d. none of these  e. Answer not known 
murpayikg;gpd; gphpT 368 njhlh;ghd gpd;tUk; mwpf;iffisf; ftdpf;f. 
1. murpayikg;Gr; rl;ljpUj;j kNrhjhit [dhjpgjpapd; Kd; mDkjpAld; mikr;rh; 

my;yJ ve;jnthU ehlhSkd;w cWg;gpduhYk; mwpKfg;gLj;j KbAk;. 
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2. murpayikg;Gr; rl;lj;jpUj;j kNrhjhit epiwNtw;Wtjpy; ,Ogwp Vw;gl;lhy;> 
ehlhSkd;wj;jpd; ,U mitfspd; $l;Lf; $l;lj;ij elj;Jtjw;fhd toptif cs;sJ. 

3. ruj;J 368 d; fPo; epiwNtw;wg;gl;l murpayikg;G rl;ljpUj;j kNrhjhtpw;F [dhjpgjp 
xg;Gjy; mspf;f Ntz;Lk; vd;gJ fl;lhakpy;iy. 

4. murpayikg;gpd; 7tJ ml;ltizia jpUj;Jtjw;F> ghjp khepy rl;lrigapd; xg;Gjy; 
mtrpak;. 

ve;j $w;W/$w;Wfs; rhp? 
a. 1 kl;Lk;   b. 2 kw;Wk; 3   c. 4 kl;Lk;  
d. Nkw;fz;l vJTkpy;iy e. tpil njhpatpy;iy 

 
148. Which one of the following statement/s is incorrect about the government of India act – 

1935 
a. It provided for the adoption of Dyarchy at the Centre. 
b. It introduced at the Centre for the first time, bicameralism in India. 
c. It abolished Dyarchy in the provinces. 
d. It divided the powers between the Centre and the units in terms of three lists. 
e. Answer not known 
,e;jpa muRr;rl;lk; 1935 njhlh;Gila $w;W/$w;Wfspy; ve;j xd;W rhpahdjy;y? 
a. kj;jpapy; ,ul;ilahl;rp Kiwia mky;gLj;Jtjw;F toptif nra;jJ. 
b. ,r;rl;lk; ,e;jpahtpy; kj;jpapy; ,U mit Kiwia> Kjd;Kjyhf mwpKfg;gLj;jpaJ. 
c. ,r;rl;lk; khfhzq;fspy; ,ul;ilahl;rp Kiwia xopj;jJ. 
d. ,r;rl;lk; kj;jpa kw;Wk; khfhz muRfSf;fpilNaahd mjpfhuq;fis %d;W 

gl;bay;fs; %yk; gfph;fpwJ. 
e. tpil njhpatpy;iy 
 

149. Assertion (A): Periyar believed that property rights for women would provide them a 
social status & protection. 
Reason (R): In 1986, Government of Tamil Nadu fulfilled the dream of radical 

    reformers by introduction of the Hindu Succession Tamil Nadu 
    Amendment Act. 

a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A). 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
$w;W  (A): ngz;fSf;fhd nrhj;Jupik mtu;fSf;F r%f me;j];ijAk;> 
    ghJfhg;igAk; toq;Fk; vd;W ngupahu; ek;gpdhu;. 
fhuzk; (R): 1986y; jkpof muR ,e;J thupR jpUj;jr; rl;lj;ij mwpKfg;gLj;jp jPtpu 
    rPu;jpUj;jf; fdit epiwNtw;wpaJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW. 
d. (A) jtW Mdhy; (R) rhp.  
e. tpil njhpatpy;iy 

 
150. Which of the following statement(s) is/are correct about Saakshar Bharat Mission (2009): 

(i) The program is formulated by ministry of Human Resource Development. 
(ii) The objective is to achieve 80% literacy 
(iii) The focus is on reducing the gap between male and female literacy. 
a. only (i)   b. only (i) and (ii)  c. all of the above   
d. only (ii) and (iii)  e. Answer not known 



 

40 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

fw;Fk; ghujk; kp~d; (Saakshar Bharat Mission) 2009> gw;wp gpd;tUk; $w;Wfspy; vJ 
rupahdJ. 
 
(i) ,e;j jpl;lk; kdpjts Nkk;ghL mikr;rfj;jhy; cUthf;fg;gl;lJ. 
(ii) 80% vOj;jwpT ngWtNj Fwpf;Nfhs; 
(iii) Mz; kw;Wk; ngz; fy;tpawpT ,ilntspiaf; Fiwg;gjpy; ftdk; nrYj;jg;gLfpwJ. 
a. (i) kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk; c. Nkw;fz;l midj;Jk;   
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

151. Match the pairs – (Directive Principles of State Policy) 
  A         B 

A. Protection of national monuments     1. Article 47 
B. To raise the standard of living      2. Article 49 
C. To protect educational and economic interests of SC/ST 3. Article 48 
D. Prohibition of cow-slaughter      4. Article 46 
  A B C D 
a.  1 2 4 3 
b. 2 1 3 4 
c. 3 2 4 1 
d. 2 1 4 3 
e. Answer not known 
rhpahd ,izfis nghUj;Jf (muR topfhl;L newpKiw) 
A. Njrpa epidTr; rpd;dq;fspd; ghJfhg;G   1. ruj;J 47 
B. tho;f;ifj; juj;ij cau;j;j Ntz;Lk;    2. ruj;J 49 
C. fy;tp kw;Wk; SC/ST nghUshjhu eyd;fis ghJfhf;f 3. ruj;J 48 
D. gRtij jil       4. ruj;J 46 
 A B C D 
a. 1 2 4 3 
b. 2 1 3 4 
c. 3 2 4 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

152. Which of the following statements is/are correct about the article 21 of the constitution of 
India? 
1. article 21 declares that no person shall be deprived of his life or personal liberty except 

according to procedure established by law. 
2. this right is available to both citizen and non-citizens. 
a. (1) and (2)   b. (1) only   c. 2 only 
d. None of these  e. Answer not known 
,e;jpa murpayikg;gpy; cs;s ruj;J 21 gw;wpa gpd;tUk; $w;Wfspy; vJ/vit rhpahdJ? 
1. rl;lj;jhy; epWtg;gl;l eilKiwfspd;gb my;yhky;> ve;jnthU eghpd; capiuAk; 

my;yJ jdpg;gl;l Rje;jpuj;ijAk; gwpf;ff;$lhJ vd ruj;J 21 njhptpf;fpwJ. 
2. ,e;j chpik Fbkfd; kw;Wk; Fbkfd; my;yhNjhh;f;Fk; fpilf;Fk;. 
a. 1 kw;Wk; 2   b. 1 kl;Lk;   c. 2 kl;Lk;    
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

153. Which of the following about Sree Narayana Guru is/are correct? 
i. He evolved into a poet & scholar in Malayalam, Tamil, Arabic, Persian and Sanskrit. 
ii. He set up the Sri Narayana Dharma Paripalana Yagam, an organisation to work for 

the uplift of the “depressed classes”. 
iii. He established a grand temple at Arivipuram & dedicated it to all. 
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iv. Thinkers and writers such as Kumaran Asan & Dr. Palpu were influenced by his 
ideas & carried forward the movement. 

a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv   
d. i, ii, iii, iv   e. Answer not known 
gpd;tUtdtw;wpy; vit ehuhaz FU gw;wpa rupahdit? 
i. ,tu; kiyahsk;> jkpo;> mugp> ghurpfk; kw;Wk; rk];fpUjk; Mfpa nkhopfspy; 

mwpQuhfTk; ftpQuhfTk; jpfo;e;jhh;. 
ii. xLf;fg;gl;l kf;fspd; Nkk;ghl;bw;Fg; gzpahw;Wtjw;fhf =ehuhaz ju;k gupghyd 

Nahfk; vDk; mikg;ig cUthf;fpdhu;. 
iii. mutpGuk; vDk; Cupy; xU ngupa Nfhtpiyf;fl;ba ,tu; mij midtUf;Fk; 

mu;g;gzpj;jhu;. 
iv. Fkhud; Mrhd;> lhf;lu; gy;G Nghd;w rpe;jidahsu;fSk; vOj;jhsu;fSk; ,tUila 

rpe;jidfshy; J}z;lg;ngw;W ,af;fj;ij Kd;ndLj;Jr; nrd;wdh;. 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv   
d. i, ii, iii, iv   e. tpil njhpatpy;iy 

 
154. Choose the incorrect statements from the following statement regarding State Health Index 

2019-20. 
1. It is released by NITI Aayog. 
2. Tamil Nadu ranked 3rd in 2019-20. 
3. Kerala ranked first while U.P ranked last among Bigger states. 
a. 1, 2     b. 1, 3    c. 2 alone   
d. None of these   e. Answer not known 
2019-20 khepy Rfhjhuf; FwpaPL Fwpj;j gpd;tUk; $w;Wfspy; jtwhd $w;iw / $w;Wfisf; 
fz;lwpf. 

1. ,J epjp MNahf;fhy; ntspaplg;gLfpwJ. 
2. 2019-20 Mk; Mz;by; jkpo;ehL %d;whtJ ,lj;ijg; gpbj;jJ. 
3. nghpa khepyq;fspy;> Nfush Kjyplj;ijAk; cj;jpu gpuNjrk; filrp ,lj;ijAk; 

gpbj;Js;sd. 
a. 1, 2     b. 1, 3    c. 2 kl;Lk; 
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
155. Consider the following statements about the appointment of Advocate General of the State: 

1. He must be a person who is qualified to be appointed a judge of a high court. OR 
2. He must have held a judicial office for ten years. OR 
3. He should have been an advocate of a high court for ten years. OR 
4. He should be a distinguished jurist in the opinion of the governor. 
Which of the statements given above are correct? 
a. (1), (2), (3) only  b. (2), (3), (4) only   c. (1), (2), (3), (4) 
d. (1), (2), (4) only   e. Answer not known 
khepy muRj; jiyik tof;FiuQh; epakdk; gw;wpa gpd;tUk; $w;Wfis ftdpf;f. 
1. cah;ePjpkd;w ePjpgjpahf epakpf;fg;glf; $ba jFjpia cilatuhf ,Uj;jy; Ntz;Lk;. 
2. mth; gj;J Mz;Lfs; ePjpj;Jiw gjtp tfpj;jpUf;f Ntz;Lk; (my;yJ) 
3. mth; gj;J Mz;Lfs; cah; ePjpkd;wj;jpd; toq;fwpQuhf gzpahw;wp ,Uf;f Ntz;Lk;. 

(my;yJ) 
4. MSehpd; fUj;Jg;gb mth; xU rpwg;Gkpf;f rl;l ty;Yeuhf ,Uf;f Ntz;Lk;. 
NkNy nfhLf;fg;gl;l $w;Wfspy; rhpahdJ vJ? 
a. 1, 2, 3 kl;Lk;  b. 2, 3,  4 kl;Lk;  c. 1, 2, 3, 4   
d. 1, 2, 4 kl;Lk;  e. tpil njhpatpy;iy 
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156. What is the number of dots on the face opposite 2 dots? 

 
a. 1  b. 4  c. 3  d. 6       e. Answer not known 
 
,uz;L Gs;spfs; cs;s Kfj;jpw;F vjpNu cs;s Kfj;jpy; vj;jid Gs;spfs; cs;sd? 

 
a. 1  b. 4  c. 3  d. 6     e. tpil njhpatpy;iy  

 
157. If the number 481*673 is completely divisible by 9, then the smallest whole number in place 

of * will be: 
a. 2  b. 5  c. 6  d. 7   e. Answer not known 
481*673 vd;w vz;zhdJ 9My; tFgLk; vdpy; * vd;w FwpaPl;bd; kpfr;rpwpa 
kjpg;igf;fhz;f. 
a. 2  b. 5  c. 6  d. 7   e. tpil njhpatpy;iy 

 
158. Imran deposits Rs. 400 per month in a post office as R.D. for 2 years. If the rate of interest is 

12%, find the amount he will receive at the end of 2 years. 
a. Rs.9600  b. Rs.10800  c. Rs.12000 d. Rs.18000 e. Answer not known 
,k;uhd; Xu; mQ;ryfj;jpy; 12% tl;bapy; xt;nthU khjKk; &. 400 I 2 Mz;LfSf;Fr; 
njhlu; itg;G epjpapy; nrYj;jp te;jhu;. ,uz;L Mz;Lfs; Kbtpy; mtUf;Ff; fpilf;Fk; 
njhifiaf; fhzTk;. 
a. Rs.9600  b. Rs.10800  c. Rs.12000 d. Rs.18000 e. tpil njhpatpy;iy 

 
159. By selling a speaker for Rs.768, a man loses 20%. In order to gain 20% how much should he 

sell the speaker? 
a. Rs. 960  b. Rs. 1056   c. Rs. 1152   
d. Rs. 1280  e. Answer not known 
Xu; xypg;ngUf;fpia &. 768 ,f;F tpw;gjhy;> xU egUf;F 20 % el;lk; Vw;gLfpwJ. 20% 
,yhgk; fpilf;f > xypg;ngUf;fpia mtu; vd;d tpiyf;F tpw;f Ntz;Lk;? 
a. &. 960  b. &. 1056   c. &. 1152   
d. &. 1280  e. tpil njhpatpy;iy 

 
160. What is the difference between the sum of first n odd natural numbers and that of first ‘n’ 

natural numbers? 

a. 1
2

n
+  b. 

( )1

2

n n−
 c. 

( )1

2

n n+
 d. 

( )( )1 2 1

6

n n n+ +
  e. Answer not known 

Kjy; ‘n’ xw;iw ,ay; vz;fspd; $LjYf;Fk; Kjy; ‘n’ ,ay; vz;fspd; $LjYf;Fk; 
cs;s tpj;jpahrk; vd;d? 

a. 1
2

n
+  b. 

( )1

2

n n−
 c. 

( )1

2

n n+
 d. 

( )( )1 2 1

6

n n n+ +
  e. tpil njhpatpy;iy 
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161. Which one of the following pair is not matched correctly? 
a. Constituent Assembly first meeting   - Dec 9, 1946 
b. Nehru moved objectives Resolution   - December 13, 1947 
c. Final session of Constituent Assembly  - Jan 24, 1950 
d. Constituent Assembly adopted National Flag - July 22, 1947 
e. Answer not known 
fPo;f;fz;ltw;wpy; vJ rhpahf nghUe;jtpy;iy? 
a. murpayikg;G eph;za rigapd; Kjy; $l;lk;  - brk;gh; 9> 1946 
b. NeU Fwpf;Nfhs; jPh;khdj;ij murpay;   

eph;za rigf;F nfhz;L te;jJ     – brk;gh; 13> 1947 
c. murpayikg;G eph;za rigapd; ,Wjp$l;lk;  - [dthp 24> 1950 
d. murpayikg;G eph;za rig Njrpa nfhbia  – [_iy 22> 1947 

Vw;Wf;nfhz;l ehs; 
e. tpil njhpatpy;iy 
 

162. Which of the following special programmes are implemented by TN Planning 
Commission? 

1. State Balanced Growth Fund. 
2. Tamil Nadu Innovations Initiative 
3. Special Area Development Program 
4. TNSLURB 

a. 1, 2, 3 b. 1, 3, 4 c. 2, 3, 4 d. 1, 2, 3, 4  e. Answer not known 
gpd;tUtdtw;Ws; jkpo;ehL jpl;lf; FOthy; nray;gLj;jg;gLk; rpwg;Gj; jpl;lq;fs; vit? 

1. khepy rkr;rPh; tsh;r;rp epjp 
2. jkpo;ehL Gj;jhf;f Kaw;rp 
3. rpwg;Gg; gFjp Nkk;ghl;Lj; jpl;lk; 
4. TNSLURB 

a. 1, 2, 3 b. 1, 3, 4 c. 2, 3, 4 d. 1, 2, 3, 4  e. tpil njhpatpy;iy 
 
163. The district with highest Per Capita Income in Tamil Nadu is _____. 

a. Kanchipuram  b. Chennai   c. Kanyakumari  
d. Tiruppur   e. Answer not known 
jkpo;ehl;by;> mjpfgl;r jdpegh; tUkhdk; nfhz;l khtl;lk;> 
a. fhQ;rpGuk;   b. nrd;id   c. fd;dpahFkhp 
d. jpUg;G+h;   e. tpil njhpatpy;iy 

 
164. For each country, global hunger index values are determined by which one of the following 

indicators 
1. Under nourishment  2. Child mortality 
3. Child stunting   4. Child wasting 
a. 1,2 and 4   b. 2, 3 and 4   c. 3 and 4   
d. 1,2,3 and 4   e. Answer not known 
gpd;tUk; Fwpfhl;bfspy; vijf; nfhz;L xt;nthU ehl;bw;Fk;> cyfshtpa grpf; FwpaPl;L 
kjpg;Gfs; jPh;khdpf;fg;gLfpd;wd? 
1. Cl;lrj;J FiwT   2. Foe;ij ,wg;G 
3. tsu;r;rp Fd;wpa Foe;ij  4. vil Fiwthd Foe;ij 
a. 1, 2 kw;Wk; 4  b. 2, 3 kw;Wk; 4  c. 3 kw;Wk; 4     
d. 1, 2, 3 kw;Wk; 4   e. tpil njhpatpy;iy  

 
165. Which one of the following does not come under The Economic Liberalisation programme? 

a. Removal of the system of industrial licensing  
b. Reduction of restrictions relating monopolies & restricted trade practices (MRTP) 
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c. Increase in the import restrictions  
d. Increase in the limit of foreign direct investment 
e. Answer not known 
gpd;tUtdw;wpy; vJ nghUshjhuj;jpd; jhuhskakhf;fy; jpl;lj;jpd; fPo; tujhJ?  
a. njhopy;Jiw chpkk; Kiwia ePf;Fjy;      
b. VfNghf kw;Wk; jilnra;ag;gl;l th;j;jfk; njhlh;ghd fl;Lg;ghLfisf; Fiwj;jy; 

eilKiwfs; (MRTP)  
c. ,wf;Fkjp fl;Lg;ghLfis mjpfhpj;jy; 
d. me;epa Neub KjyPl;bd; tuk;gpy; mjpfhpg;G 
e. tpil njhpatpy;iy 

 
166. Find the district which Tops in Child Development Index? 

a. Ariyalur   b. Coimbatore   c. Thanjavur  
d. Kanyakumari  e. Answer not known  
Foe;ij tsh;r;rp FwpaPlby; Kjd;ikahd khtl;lk; vJ? 
a. mhpaY}h;   b. Nfhak;gj;J}h;   c. jQ;rhT+h;   
d. fd;dpahFkhp  e. tpil njhpatpy;iy 

 
167. Which of the following are the indicators of Human Development Index (HDI)?  

I. Standard of Living  II. Health   III. Literacy rate  IV.  Gender Equality  
a. I, II and III only    b. II, III and IV only    c. I, II and IV only  
d. All the above   e. Answer not known 
gpd;tUtdtw;Ws; kdpjts Nkk;ghl;L FwpaPl;bd; Fwpfhl;bfs; vit? 
I. tho;f;ifj; juk;   II. MNuhf;fpak; 
III. fy;tpawpT tpfpjk;  IV. ghypd rkj;Jtk; 
a. I, II kw;Wk; III kl;Lk;  b. II, III kw;Wk; IV kl;Lk;  c. I, II kw;Wk; IV kl;Lk; 
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 
 

168. Bank nationalization had the following objective: 
a. Branch expansion    b. Extension of loan to priority sectors  
c. Ensure depositors security  d. All of the above 
e. Answer not known 
tq;fp Njrpakakhf;fy; gpd;tUk; Nehf;fq;fis nfhz;bUe;jJ.  
a. fpis tphpthf;fk;     b. Kd;ddpJiwfSf;fhd fld; tphpthf;fk;  
c. itg;ghsh;fspd; ghJfhg;ig cWjp nra;jy; d. Nkw;;fz;l midj;Jk;  
e. tpil njhpatpy;iy 

 

169. Which of the following are non-developmental expenditure of government? 
1.  Expenditure on defence  2. Interest payments 
3. Expenditure on health  4. Expenditure on tax collection 
a. (1), (2) and (3)  b. (1), (3) and (4)   c. (1), (2) and (4)  
d. All of the above  e. Answer not known 
fPo;fz;ltw;Ws; murpd; tsh;r;rp rhuhj nrytpdq;fs; ahit? 
1. ghJfhg;G nryTfs;  2. tl;b nrYj;Jtjy; 
3. Rfhjhu nryTfs;  4. thp t#y; nra;tjw;fhd nryTfs; 
a. 1, 2, 3   b. 1, 3, 4    c. 1, 2, 4  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 

170. Which of the following dimensions are considered in the measurement of Gender 
Inequality Index?  
I. Empowerment    II. Labour Market  
III. Domestic Responsibilities  IV. Reproductive Health 
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a. I, II and III only    b. I, III and IV only   c. I, II and IV only  
d. All the above   e. Answer not known 
ghypd rkj;Jtkpd;ik FwpaPl;bd; msTUf;fs; vit? 
I. mjpfhukspj;jy;   II. njhopyhsh; re;ij 
III. tPl;Lg; nghWg;Gfs;  IV. ,dg;ngUf;f MNuhf;fpak; 
a. I, II kw;Wk; III   b. I, III kw;Wk; IV  c. I, II kw;Wk; IV  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 
 

171. Arrange the following districts in ascending of order of its rank Tamil Nadu’s Gender 
Inequality Index. 
I. Nilgiris   II. Chennai   III. Vellore  IV. Madurai   V. Ariyalur 
a. I, II, III, IV, V    b. I, III, V, IV, II   c. I, II, V, III, IV  
d. I, III, II, IV, V   e. Answer not known 
jkpofj;jpd; ghypd rkj;Jtkpd;ik FwpaPl;bd;gb gpd;tUk; khtl;lq;fis juthpirg;gLj;Jf. 
I. ePyfphp  II. nrd;id  III. NtY}h; IV. kJiu  V. mhpaY}h; 

a. I, II, III, IV, V    b. I, III, V, IV, II   c. I, II, V, III, IV   
d. I, III, II, IV, V   e. tpil njhpatpy;iy 
 

172. The Goods and Services Tax (GST) change the system from _______. 
1.  Production based to consumption based  
2. Consumption based to production based 
3. National based to local based 
4. Local based to national based 
a. (1) statement is correct   b. (1) and (3) statements are correct 
c. (2) and (4) statements are correct d. (3) statement is correct 
e. Answer not known 
ruf;F kw;Wk; Nrit thp (GST) apdhy; Vw;gl;Ls;s khw;wk;. 
1. cw;gj;jp mbg;gilapy; ,Ue;J Efh;T mbg;gil 
2. Efh;T mbg;gilapy; ,Ue;J cw;gj;jp mbg;gil 
3. Njrpa mbg;gilapy; cs;@h; mbg;gil 
4. cs;@h; mbg;gilapypUe;J Njrpa mbg;gil 
a. 1tJ thf;fpak; rhp   b. 1 kw;Wk; 3 tJ thf;fpak; rhp 
c. 2 kw;Wk; 4 tJ thf;fpak; rhp  d. 3tJ thf;fpak; rhp 
e. tpil njhpatpy;iy 

 
173. The Credit Authorisation Scheme introduced by 

a. International Monetary Fund b. Reserve Bank of India   c. Commercial Bank  
d. Exim Bank    e. Answer not known 
fld; mq;fPfhu jpl;lj;ij mwpKfg;gLj;jpaJ vJ?  
a. gd;dhl;L gzepjp epWtdk;  b. ,e;jpa hprh;t; tq;fp   c. tzpf tq;fp  
d. vf;]pk; tq;fp    e. tpil njhpatpy;iy 

 
174. The Tamilnadu State Planning Commission has been assisted by _____ in the preparation 

of State Human Development Report. 
a. IIT – Madras 
b. Madras Institute of Development Studies 
c. Tamilnadu Institute of Urban Studies 
d. Indian Institute of Management – Tiruchirapalli 
e. Answer not known 
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jkpo;ehL khepy jpl;lf;FO> khepy kdpj Nkk;ghl;L mwpf;ifia jahhpg;gjpy; _____ %yk; 
cjtpapUf;fpwJ. 
a. ,e;jpa njhopy;El;g fofk;> nrd;id 
b. nrd;id tsu;r;rp Muha;r;rp epWtdk; 
c. jkpo;ehL efhpay; gapw;rp epWtdk; 
d. ,e;jpa Nkyhz;ik fofk; jpUr;rpuhg;gs;sp 
e. tpil njhpatpy;iy 

 
175. TNHSP, Tamil Nadu Health System project was established in ____ in partnership with 

____ 
a. 2005, World Bank   b. 2006, World Bank  c. 2005, JICA   
d. 2006, JICA    e. Answer not known 
jkpo;ehL Rfhjhu mikg;G jpl;lk; (TNHSP) vg;NghJ> vjDila $l;L xg;ge;jj;jhy; 
njhlq;fg;gl;lJ? 
a. 2005, cyf tq;fp   b. 2006, cyf tq;fp c. 2005, JICA   
d. 2006, JICA    e. tpil njhpatpy;iy 

 
176. Match the following: 

A. VAT  1. Multipoint tax with cascading effect 
B. GST  2. One point tax without cascading effect 
C. Sales Tax  3. Multipoint tax without cascading effect 
D. CGST  4. Collected by the Central Government for Interstate sale 
E. IGST  5. Collected by the Central Government on an intra-State sale 

A B C D E 
a. 1 2 4 5 3 
b.  3 2 1 5 4 
c. 4 3 1 2 5 
d. 2 1 3 5 4 
e. Answer not known 
gpd;tUgtdtw;iw nghUj;Jf: 
A. VAT  1. mbj;js tpisTs;s gy;Kid thpahFk; 
B. GST  2. mbj;js tpistpy;yhj xU Kid thpahFk; 
C. tpw;gidthp 3. mbj;js tpistpy;yhj gy;Kid thpahFk; 
D. CGST  4. khepy muRfSf;F ,ilNaahd tpw;gidapy; kj;jpa murhy;  

t#ypf;fg;gLtjhFk; 
E. IGST  5. khepyj;jpw;Fs;Ns eilngWfpw tpw;gidapy; kj;jpa murhy;  

t#ypf;fg;gLtjhFk;   
A B C D E 

a. 1 2 4 5 3 
b.  3 2 1 5 4 
c. 4 3 1 2 5 
d. 2 1 3 5 4 

 e. tpil njhpatpy;iy 
 
177. Purpose of Agricultural Producers Co-operative marketing society is 

1. Sale of agricultural products at higher price 
2. Produce pledge loan for agriculturalist’s maximum amount of loan 
3. To create comfortable market zone 
4. To preserve the goods 
a. 1 correct   b. 1, 2 correct   c. 1, 2, 3 correct  
d. 3, 4 correct   e. Answer not known 
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tptrha cw;gj;jpahsh; $l;LwT tpw;gid fofj;jpd; Nehf;fk;  
1. tptrha cw;gj;jp nra;j nghUl;fis mjpf tpiyf;F tpw;gid nra;tJ  
2. cw;gj;jpapd; nghUl;fspd; mjpfgbahd fld; toq;Fjy;  
3. nrsfhpakhd tpw;gid re;ijia nra;jy;  
4. nfl;L Nghfhky; nghUs;fis fhg;gJ. 
a. 1 kl;Lk; rhp  b. 1, 2 kl;Lk; rhp   c. 1, 2, 3 kl;Lk; rhp 
d. 3, 4 kl;Lk; rhp   e. tpil njhpatpy;iy 

 
178. Consider the following statements regarding Tamilnadu Corporation for Development of 

Women (TNCDW) 
1. TNCDW was established in 1983 under social welfare department. 
2. Now, TNCDW is under control of Rural development and panchayat raj department 
3. Objective of TNCDW is social and economic empowerment of women  
a. 1, 2 are correct   b. 3 only is correct      c. 1, 3 are correct  
d. All are correct   e. Answer not known 
jkpo;ehL kfsph; Nkk;ghl;L epWtdk; (TNCDW) Fwpj;j gpd;tUk; thf;fpaq;fSy; 
rhpahdtw;wijj; Njh;e;njLf;f 
1. TNCDW MdJ 1983 Mk; Mz;L r%f eyj;Jiwapd; fPo; epWtg;gl;lJ. 
2. jw;NghJ TNCDW MdJ Cuf tsh;r;rp kw;Wk; Cuhl;rpj; Jiwapd; fPo; cs;sJ. 
3. TNCDW apd; Nehf;fk; ngz;fSf;F r%f kw;Wk; nghUshjhu mjpfhuk; toq;Fjy; 

MFk;. 
a. 1>2 rhp    b. 3 kl;Lk; rhp  c. 1>3 rhp   
d. midj;Jk; rhp   e. tpil njhpatpy;iy 
 

179. Choose incorrect statement regarding RIDF – Rural Infrastructure Development Fund. 
1. RIDF was set up by NABARD in 1982. 
2. NABARD through RIDF extend financial assistance to state Governments, PSU, SHG 

and NGO for taking up infrastructure projects in Rural and Urban areas. 
a. 1 alone   b. 2 alone   c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
RIDF Fwpj;j jtwhd thf;fpaj;ijf; fz;lwp. (Mh;.I.b.vg;) - Cuf cl;fl;likg;G tsh;r;rp 
epjp 
1. Mh;.I.b.vg; eghh;L My; 1982y; cUthdJ. 
2. eghh;L MdJ Mh;.I.b.vg; %yk; epjpAjtpia khepy murhq;fq;fs;> nghJj;Jiw 

epWtdq;fs;> Ra cjtpf;FOf;fs; kw;Wk; njhz;L epWtdq;fs; Mfpatw;wpd; %ykhf 
Cuf kw;Wk; efh;g;Gw gFjpfspd; cl;fl;likg;G jpl;lq;fSf;F nray;gLj;JfpwJ. 

a. 1 kl;Lk;   b. 2 kl;Lk;     c. 1 kw;Wk; 2  ,uz;Lk;  
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 

 
180. The Government Final Consumption Expenditures (GFCE) comprises of the followings: 

i. Revenue expenditure 
ii. Gross purchase of goods and services 
iii. Consumption of fixed capital 
iv. Consumption of variable capital 
Select the correct one combination 
a. i and ii only  b. i and iii only        c. ii and iii only  
d. i and iv only  e. Answer not known 
murhq;fj;jpd; ,Wjp Efh;T nryT gpd;tUtdtw;iw cs;slf;fpaJ 
i. tUtha; nrytpdq;fs; 
ii. nghUs;fs; kw;Wk; Nritfspd; nkhj;j nfhs;Kjy; 
iii. epiyahd %yjd Efh;T 
iv. khWk; %yjd Efh;T 
rhpahdtw;iw Njh;e;njL. 
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a. (i) kw;Wk; (ii) kl;Lk; b. (i) kw;Wk; (iii) kl;Lk; c. (ii) kw;Wk; (iii) kl;Lk;  
d. (i) kw;Wk; (iv) kl;Lk; e. tpil njhpatpy;iy 

 
181. Choose the right answer among type: 

Which of the following statements are true about Eleventh Five Year Plan of India? 
i. The main focus of this plan was towards faster and more inclusive growth 
ii. This plan stresses that benefits of development should reach all sections of 

population 
iii. Increased rice production in the eastern part of the country 
a. i only   b. i and iii only  c. i and ii only 
d. ii and iii only  e. answer not known 
fPo;f;fz;l $w;Wfspy; rhpahdij Njh;e;njLf;fTk; 
,e;jpahtpd; gjpndhd;whtJ Ie;jhz;Lj; jpl;lj;ijg; gw;wpa gpd;tUk; $w;Wfspy; vJ 
rhpahdJ? 
i. ,e;jj; jpl;lj;jpd; Kf;fpa ftdk; tpiuthd kw;Wk; cs;slf;fpa tsh;r;rpia 

Nehf;fpajhf ,Ue;jJ 
ii. tsh;r;rpapd; gyd;fs; midj;Jj; jug;G kf;fisAk; nrd;wila Ntz;Lk; vd;gij 

,e;jj; jpl;lk; typAWj;JfpwJ 
iii. ehl;bd; fpof;Fg; gFjpfspy; mhprp cw;gj;jp mjpfhpj;J 
a. i kl;Lk;   b. i kw;Wk; iii kl;Lk; c. i kw;Wk; ii kl;Lk;  
d. ii kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 

 
182. Consider the following statements regarding post Tsunami Sustainable Livelihood 

programme (PTSLP) 
1. It is funded by IFAD  
2. TNCDW is nodal agency for implementing PTSLP 
3. PTSLP is implemented in 6 coastal districts. 
a. 1, 2 are correct   b. 2, 3 are correct  c. 1 alone is correct  
d. all are correct  e. Answer not known 
Rdhkpf;Fg; gpd; epiyj;j tho;thjhuj; jpl;lk; (PTSLP) Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. gd;dhl;L Ntshz; tsh;r;rp epjpaj;jhy; (IFAD) epjpAjtp  
  nra;ag;gLfpwJ. 
2. PTSLP jpl;lj;ij eilKiwg;gLj;Jk; myfhf TNCDW  
  nray;gLfpwJ. 
3. PTSLP, 6 flNyhu khtl;lq;fspy; nray;gLj;jg;gLfpwJ. 
a. 1, 2 rhp   b. 2, 3 rhp   c. 1 kl;Lk; rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
183. The aim of POSHAN scheme is to eliminate Malnutrition by ____ 

a. 2022 b. 2023 c. 2024  d. 2025 e. Answer not known 
____ Mz;bw;Fs; Cl;lr;rj;J Fiwg;ghl;il xopg;gNj Ngh~hd; jpl;lj;jpd; Nehf;fkhFk;. 
a. 2022 b. 2023 c. 2024  d. 2025 e. tpil njhpatpy;iy 

 
184. Which of the following statement is/are correct about the NITI Ayog? 

I. All Chief Ministers of states except Union Territories with legislature are part of 
Governing Council. 

II. The Prime Minister of India is the Chairperson of the NITI Ayog. 
III. Finance Minister of India acts as Vice Chairman. 
a. only II and III   b. only II    c. All the above 
d. only I and II   e. Answer not known 
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fPo;tUk; $w;Wfspy; ‘epjp MNahf;’ gw;wpa ve;jf; $w;W rhpahdJ?  
I. midj;J khepy Kjy;th;fSk;> rl;lkd;wk; nfhz;l A+dpad; gpuNjrq;fs; jtpu 

MSk; FOtpy; mq;fk; tfpf;fpd;wd.  
II. ,e;jpag; gpujkh; ‘epjp MNahf;fpd;’ jiyth; Mthh;  
III. ,e;jpa epjpaikr;rh; Jiz jiytuhf nray;gLfpwhh;.  
a. II kw;Wk; III kl;Lk;   b. II kl;Lk;     c. Nkw;$wpa midj;Jk; 
d. I kw;Wk; II kl;Lk;   e. tpil njhpatpy;iy 

 
185. RBI would scrutinize all sanctions of bank loans , this post –Sanction scheme is known as 

a. Credit monitoring arrangement  b. Credit monitoring advice 
c. Credit monitoring adjustment  d. Credit monitoring alternation 
e. Answer not known 
tq;fpfspy; mDkjpf;fg;gl;l midj;J fld;fisAk; ,e;jpa hprh;t; tq;fp kjpg;gPL nra;Ak; 
gpd;Ndw;Gj; jpl;lk;  
a. fld; KiwgLj;Jk; Vw;ghL    b. fld; Kiwg;gLj;Jjiy KiwgLj;Jjy;  
c. fld; Kiwg;gLj;Jjiy Vw;Wf;nfhs;Sjy;  d. fld; Kiwg;gLj;Jjiy khw;wpaikj;jy; 
e. tpil njhpatpy;iy 

 
186. Choose correct pair 

1. Old Age Home for destitute senior citizen in Tamil Nadu – 1991. 
2. Senior citizens in Tamil Nadu at present – 13.6% 
3. Senior citizen Helpline – 14567 
4. Elder Abuse Awareness Day – April 15 
a. 1, 2    b. 1, 2, 3    c. 3, 4    
d. 2, 3, 4   e. Answer not known 
rhpahd ,iziaf; fz;lwpf. 
1. jkpo;ehl;by; Mjutw;w KjpNahh;fSf;fhd KjpNahh; ,y;yq;fs; - 1991. 
2. jkpo;ehl;by; KjpNahh;fs; - 13.6% 
3. %j;j Fbkf;fSf;fhd cjtp vz; - 14567 
4. %j;j Fbkf;fSf;fhd vjpuhd nfhLQ;nray; vjph;g;G jpdk; - Vg;uy; 15 
a. 1, 2    b. 1, 2, 3    c. 3, 4    
d. 2, 3, 4   e. tpil njhpatpy;iy 

 
187. Who was the first chairman of Central Social Welfare Board? 

a. Muthulakshmi Reddy   b. Durgabhai Deshmukh 
c. Vijayalakhsmi Pandit   d. Rukmani Laxmipathy 
e. Answer not known 
kj;jpa r%f eythhpaj;jpd; Kjy; jiyth; ahh;?  
a. Kj;Jnyl;Rkp nul;b   b. Jh;fhgha; Nj~;Kf;  
c. tp[anyl;Rkp gz;bl;   d. Uf;kzp ,yl;Rkpgjp  
e. tpil njhpatpy;iy 

 
188. IMF was setup with the objectives of assisting the Private Enterprises in developing 

countries by providing them 
a. Risk Capital  b. Unrisk capital    c. Capital   

d. Savings   e. Answer not known 
IMF epWtdk; tsUk; ehLfSf;F cjTk; Nehf;fj;Jld; me;epWtdq;fSf;F  
___________mspj;J cjtp nra;fpwJ.  
a. ,lh;ghL %yjdk;  b. ,lh;ghlw;w %yjdk;  c. %yjdk;    

d. Nrkpg;G   e. tpil njhpatpy;iy 
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189. National Statistical Commission NSC was set up in 
a. 2001  b. 2006  c. 2005  d. 2008 e. Answer not known 
Njrpa Gs;spay; Jiw NSC mikf;fg;gl;l Mz;L 
a. 2001  b. 2006  c. 2005  d. 2008 e.  tpil njhpatpy;iy 

 
190. Tamil Nadu Housing Board was established in ____ with the objective of ‘housing for all’. 

a. 1951 b. 1961 c. 1970  d. 1971 e. Answer not known 
'midtUf;Fk; tPL' vDk; Nehf;fj;Jld;> jkpo;ehL tPl;Ltrjp thhpak; cUthf;fg;gl;l 
Mz;L  
a. 1951 b. 1961 c. 1970  d. 1971 e. tpil njhpatpy;iy 

 
191. Arrange in Chronological order  

1. TAMIN  2. TANCEM  3. SDAT  4. TAHDCO 
a. 1, 2, 3, 4   b. 4, 1, 2, 3    c. 4, 2, 1, 3   
d. 2, 4, 1, 3   e. Answer not known 
fhythpirg;gLj;Jf.  
1. TAMIN  2. TANCEM  3. SDAT  4. TAHDCO 
  a. 1, 2, 3, 4   b. 4, 1, 2, 3    c. 4, 2, 1, 3   
d. 2, 4, 1, 3   e. tpil njhpatpy;iy 
 

192. Assertion (A) : Ramachandra Guha calls Kumarappa as “Green Gandhian”. 
Reason (R) : Kumarappa was the founder of modern environmentalism in India. 
a. (A) is true, (R) is false. 
b. Both (A) and (R) are true and (R) is the correct explanation to (A) 
c. (A) is false, (R) is true.  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A) : ,uhkr;re;jpu Ffh mth;fs; Fkug;ghit ‘gr;ir fhe;jp’ vd;W mioj;jhh;. 

fhuzk;(R): Fkug;gh ,e;jpahtpd; Rw;Wr; #oypay; Fwpj;J mbj;jskpl;lhh;. 
a. (A) rhp> Mdhy; (R) jtW.  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fk;. 
c. (A) jtW Mdhy; (R) rhp.  
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fky;y. 
e.  tpil njhpatpy;iy 

 
193. Assertion (A): Productivity of land in India is low. 

Reason (R): Small farmers are not motivated to produce more. 
a. (A) is true (R) is false 
b. Both (A) and (R) are true, and (R) is the correct explanation of (A) 
c. (A) is false (R) is true 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): ,e;jpahtpy; epyj;jpd; cw;gj;jpj; jpwd; Fiwthf cs;sJ. 
fhuzk; (R): rpW tptrhapfs; mjpf cw;gj;jp nra;a Cf;Ftpg;G ,y;iy. 
a. (A) rhp Mdhy; (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) – tpw;F rhpahd tps;ffk;  
c. (A) jtW Mdhy; (R) rhp  
d. (A) kw;Wk; (R) ,uz;LK; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy  
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194. Match the following, 
A. TNeGA    1. 2007 
B. TACTV     2. 2006 
C. Tamil Virtual academy   3. 2018 
D. TANFINET    4. 2001 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 2 1 3 4 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf 
A. TNeGA    1. 2007 
B. TACTV     2. 2006 
C. Tamil Virtual academy   3. 2018 
D. TANFINET    4. 2001 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 2 1 3 4 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
 

195. Choose the incorrect statement: 
I. A Kisan credit card is aimed to have quick and affordable credit to farmers. 
II. Agricultural Produce Market Committee is a non-statutory body 
III. To promote agricultural activities is the function of APMC 
IV. APMC provides market led extension services to farmer 
a. I and II  b. III and IV   c. IV only   
d. II only  e. Answer not known 
nghUj;jkw;w $w;wpid fz;lwpf.  
I. coth; fld; ml;il tptrhapfSf;F tpiuthfTk; jFjpf;Nfw;gTk; fld; toq;Fk; 

Vw;ghlhFk;  
II. tptrha nghUl;fSf;fhd mq;fhbf;FO (APMC) xU rl;lg;G+h;tkhd mikg;G my;y 
III. Ntshz; eltbf;iffis Cf;Ftpg;gJ APMC – d; gzpahFk;  
IV. APMC re;ij rhh;e;j tphpthf;f Nritfis toq;FfpwJ 
a. I kw;Wk; II   b. II kw;Wk; IV   c. IV kl;Lk;     
d. II kl;Lk;   e. tpil njhpatpy;iy 

 
196. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find 

the volume of the frustum. 
a. 48510 cm3    b. 48150 cm3   c. 48015 cm3  
d. 48105 cm3   e. Answer not known 

45 nr.kP cauKs;s Xu; ,ilf;fz;lj;jpd; ,U Gw Muq;fs; KiwNa 28 nr.kP kw;Wk; 7 
nr.kP> ,ilf;fz;lj;jpd; fd msitf; fhz;f. 

a. 48510 nr.kP3   b. 48150 nr.kP3  c. 48015 nr.kP3  
d. 48105 nr.kP3  e. tpil njhpatpy;iy 

 
197. The probability that it will rain on a particular day is 0.76. What is the probability that it 

will not rain on that day? 
a. 0  b. 1   c. 0.24  d. 0.76  e. Answer not known 
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xU Fwpg;gpl;l ehspy; kio tUtjw;fhd epfo;jfT 0.76 mf;Fwpg;gpl;l ehspy; kio tuhky; 
,Ug;gjw;fhd epfo;jfT ahJ? 
a. 0   b. 1  c. 0.24  d. 0.76  e. tpil njhpatpy;iy 

 
198. A can do a piece of work in 12 hours, B and C can do it 3 hours whereas A and C can do it 

in 6 hours. How long will B alone take to do the same work? 
a. 10 hours  b. 7 hours    c. 6 hours   
d. 4 hours  e. Answer not known 
A vd;gtu; xU Ntiyia 12 kzpNeuj;jpy; Kbg;ghu;. B kw;Wk; C me;j Ntiyia 3 kzp 
Neuj;jpYk;> A kw;Wk; C Ntiyia 6 kzp Neuj;jpYk; nra;J Kbg;gu;. mNj Ntiyia B 
jdpNa vt;tsT kzp Neuj;jpy; Kbg;ghu;? 

a. 10 kzp Neuk; b. 7 kzp Neuk;   c. 6 kzp Neuk;   
d. 4 kzp Neuk; e. tpil njhpatpy;iy 

 
199. LCM of two numbers is 432 and their HCF is 72. If one number is 144, find the other 

number.  
a. 214  b. 215  c. 216  d. 218  e. Answer not known 
,uz;L vz;fspd; kP.rp.k 432 MFk;. mjd; kP.ngh.t MdJ 72 Mf ,Ue;J> xU vz; 
144Mf ,Ue;jhy; mLj;j vz; 
a. 214  b. 215  c. 216  d. 218  e. tpil njhpatpy;iy 

 
200. The present value of an oil engine is Rs. 14,580. What was the worth of the engine 3 years 

before if the value depreciates at the rate of 10% every year? 
a. Rs.20000  b. Rs.18000    c. Rs.14000   
d. Rs.10629  e. Answer not known 
xU vz;nza; ,ae;jpuj;jpd; jw;Nghija kjpg;G &. 14>580. mjd; kjpg;G Mz;L 10% 
Nja;khdk; mile;jhy; 3 tUlk; Kd;G mjd; kjpg;G vd;d?  
a. &. 20000  b.  &.18000    c. &.14000   
d. &.10629  e. tpil njhpatpy;iy 
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MODEL EXAMINATION  - 2 

GENERAL STUDIES  
 
Duration : Three Hours                                 Total Marks : 300 
 
Read the following instructions carefully before you begin to answer the questions. 
 

IMPORTANT INSTRUCTIONS 
 

1. You will be supplied with this question booklet 15 minutes prior to the commencement of the 
examination. 
 

2. This question booklet contains 200 questions. Before answering the questions, you are requested to 
check whether all the questions are printed serially and ensure that there are no blank pages in the 
question booklet. If any defect is noticed in the question booklet, it shall be reported to the 
invigilator within the first 10 minutes and get it replaced with a complete question booklet. If the 
defect is reported after the commencement of the examination, it will not be replaced. 
 

3. Answer all the questions. All the questions carry equal marks. 
 

4. You must write your register number in the space provided on the top right side of this page. Do 
not write anything else on the question booklet. 
 

5. An answer sheet will be supplied to you separately by the room invigilator to shade the answers. 
Instructions regarding filling of answers etc., which are to be followed mandatorily, are provided in 
the answer sheet and in the memorandum of admission (Hall Ticket). 
 

6. You shall write and shade your question booklet number in the space provided on page one of 

the answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to 
shade the question booklet number, your answer sheet will be invalidated. 
 

7. Each question comprises of five responses (answers): i.e. (A), (B), (C), (D) and (E). You have to 
select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer 
sheet. If you feel that there are more than one correct answer, shade the one which you consider the 
best. If you do not know the answer, you have to mandatorily shade (E). In any case, choose 
ONLY ONE answer for each question. If you shade more than one answer for a question, it will be 
treated as a wrong answer even if one of the given answers happens to be correct. 
 

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to take 
this question booklet and the answer sheet out of the examination room during the time of the 
examination. After the examination, you must hand over your answer sheet to the invigilator. You 
are allowed to take the question booklet with you only after the examination is over. 
 

9. You should not make any marking in the question booklet except in the sheets before the last page 
of the question booklet, which can be used for rough work. This should be strictly adhered to. 
 

10. In all matters, the English version is final. 
 

11. Failure to comply with any of the above instructions will render you liable for such action as the 
Commission may decide at their discretion. 

 


